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PART -1
(Compulsory for all Candidates)
GENERAL STUDIES
The brain of Computer is
(a) Control Unit (b) ALU (c) CPU (d) All of these
Light travels at the fastest speed in
(a) Vacuum (b) Glass (c) Water (d) Hydrogen
Which one of the following non-metals is liquid at room temperature ?
(a) Nitrogen (b) Chlorine (c) Bromine (d) Iodine
Chemical used to produce artificial rain is
(a)  Silver Chloride (b) Silver Iodide
(c) Silver Bromide (d) Silver Nitrate

The major component of honey is
(a) Glucose (b) Sucrose (c) Maltose (d) Fructose

Which one of the following financial year was declared as the year of ‘women
empowerment’ in Uttarakhand State ?

(a) 2002-2003 (b) 2010-2011 (c) 2006-2007 (d) 2015-2016
In which city of Uttarakhand, a branch of Reserve Bank of India is located ?

(a) Haridwar (b) Haldwani (c) Dehradun (d) Rudrapur
A Newspaper named ‘Swadheen Praja’ was published by

(a) Badri Datt Pande (b) Mukundilal

(c) Vishwambhar Datt Chandola (d) Victor Mohan Joshi

Badrinath is a main centre of which cult ?

(a) Shiva cult (b) Nath cult (c) Vaishanav cult (d) Pashupath cult
Who constructed the ‘Maletha Gool” ?

(a) Madho Singh Bhandari (b) Chamu Singh Bhandari

(c)  Shri Dev Suman (d) Mahipat Shah

‘Rampur Tiraha’ incident took place on

(@) 15™ August, 1994 (b) 2" September, 1994

(c) 2" October, 1994 (d) 2" November, 1994

In which district of Uttarakhand the ‘Beej Bachao Abhiyan’ was started ?

(a) Tehri Garhwal (b) Pauri Garhwal

(c) Almora (d) Pithoragarh

Who among the following is regarded as the father of Zero in Mathematics ?
(a) Ramanuj (b) Brahmagupta (¢) Galileo (d) Aryabhatt
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T -1
(meft vl o forg tfamt)
T TR
I T ferm 2
(a) HAIEE  (b) TEAY, (c) wE.d3, d Jaf
TehTST T ot A & TeAdT &
(a) Tratad (b) HEH (c) U=tH (d) TEeeH T

frferiaa o @ i it 37eTq A a9 W gd Bl ] 7
(a) TSIISH (b) FAH (c) A (d) AEEH

ST TN HLH o [T FFF B ATAT WA & -
(a) Toerm Fss (b) FeREEE (o) foemsmEs  (d)  fHeexamsde

IEC 1 T EIT hH AT G ?

(a) T (b) A (c) Wieerst (d) IS
frafafaa 9 9 forg faxdta a9 <t STEve Tsu § ‘wfge gererdienor 9y enfyd fopam mm e ?
(a) 2002-2003 (b) 2010-2011 (c) 2006-2007 d) 2015-2016
ITEUE o Tord T8 § Tiord deh 31T sfuean <hl sman fRrd g 7

(a) BRER (b) Eegrl (c) <&l d) TWE
‘WWW’WW—W%W%@TW

(a) W TIUUS T (b) GHarere 4

(c) Tovemr o a=<gren 3 (d) forere A Ssht 3

LT fohe TIC hT T H5 B 7

() JTIHEE (b) Y HHCH (c) AWEATEE  (d) YYD T
TAYT T’ <1 TmioT femee feRam o

(a) T ToE wuerd (b) =y g woer

(c) =eagm (d) ufgud smg

THY fergr h1ve el g3t ?

(a) 15 37T&, 1994 (b) 2 e, 1994

(c) 23TFR, 1994 (d) 2 TR, 1994

IAEUE o fohdl S § ‘ST srenatt ST’ ey g3 7

(a) TElimea@ () dE T () JACHIS (d) Trewrme
frfafiaa 9 & forg TG 3 1 S AFT ST 8 7

(a) TS (b) SR (c) TAfern (d) A9
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Which one of the following sets of society and habitat is not correctly matched ?
(a) Rajees — Pithoragarh (b) Bhotiyas — Chamoli
(c) Jaunsari — Dehradun (d) Tharus — Nainital

During which years the first world war occurred ?
(a) 1912-1918 (b) 1914-1918 (c) 1914-1916 (d) 1916-1918

Which one of the following region is not a major population agglomeration of the world ?

(a) Western Europe (b) Eastern Asia

(c) Southern Europe (d) South-Eastern Australia

Which one of the following is not an agro-based industry ?

(a) TIron industry (b) Paper industry

(¢)  Sugar industry (d) Cotton Textile industry

Which one of the following state of India is the highest producer of black pepper ?

(a) Assam (b) Kerala (c) Karnataka (d) Tamil Nadu
Which one among the following elements is present in the haemoglobin ?

(a) Silver (b) Copper (¢) Iron (d) None of these
The sea with highest salinity in the world is

(a) Mediterranean Sea (b) Red Sea

(c) Black Sea (d) Dead Sea

The new ~ 2,000 Indian currency note bears the signature of which one of the following
persons ?

(a) Pranab Mukherjee (b) Narendra Modi
(c) Arun Jaitley (d)  Urjit patel
Who was awarded the 2016 Dadasaheb Phalke Award ?
(a) Manoj Kumar (b) Gulzar
(c) Lata Mangeshkar (d) Rajnikanth
Recently, which Baloch nationalist leader has applied for political asylum in India ?
(a)  Akbar Khan Bugti (b) Naela Quadri Baloch
(c) Brahamdagh Bugti (d) Faiz Mohammad Baloch
Who set up Lodha Committee to enquire [.P.L. scandal ?
(a) Government of India (b) B.C.C.IL
(¢) Supreme Court of India (d) LP.L.
Which village of India has been declared Indian First Digital Village ?
(a) Malana in Himachal Pradesh (b) Akodara in Gujarat
(c) Mawlynoung in Meghalaya (d) Hiwre Bazar in Maharashtra
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Who was the founder of ‘Scouting” ?

(a) J.H. Dunant (b) Michel Jarraud
(c) Sir Robert S.S. Baden Powell (d) Edward Jenner
frefafga 8 @ =9 a1 qure 9 fareerm =1 3w o gafa T8 8 2
(a) it — femmre (b)  ifeam — =mveft
(c) SERI — dgled (d) gr& —Irae

fop At # wuw fawa gg gam 7
(a) 1912-1918 (b) 1914-1918  (c) 1914-1916  (d) 1916-1918

freferfiaa & & i @ & fova &1 gad SaE Swee 87 T 7 7
(a) dfeedt=@a  (b) T whEn (c) Gferft 3 (d) Gferor-gelf stregforn

frfefiaa o & o 91 v HiY-snaTia T aE g ?
(a) WEIAM  (b) HETS AN (c) 3T (d) Tt I e

frafafaa 9 9 v 1 9 91 U= el ik s g4ifies 3w 8 7

(a) 3TEH (b) HA (c) hleh (d) dfrerTg
fr=ferfiea ° @ i 91 v o SEieifs 3 AT g ?

(a) =i (by dfer (c) o (d) T A HE T
forea o1 wo® AT @ TR R

(a) YESATR  (b) WA G (c) hITT GFR (d) Hda R

YA ggT o 7T 2,000 3 e W F=feriaa 3 9 forg safda & geaen & 7
(a) YUEH@SH  (b) g AR (c)  3TEUT Sfeett @ 3w

2016 % TTETETES Hlesh JEhR & fehdt grmTia feharm T o 2

(a) TANPHAR (b)) TEWIR (c) TdT TSRt (d) TSR
BT €1 H S | So[d UsgaTd! 9a1 4 WA § Ui 1cieh Y07 o fore 3 fepan & 7
(a)  3The @M Tl (b) T Il S

(c) TRIGH Tl (d) ! qewE e

318 91U, sh1vg <kl A= & foru oler afufa w1 e foram foma 2

(a) WA TR (b) .= 3.

(c) WRd T I=dH R (d) 3E.d.u.

T o ford TTTa shl <1 <1 Taen ‘fefed o’ =nfva e men 2 2

(a) YoM, A Tewr d (b)  3ThIGU, oA H

(c) WA, HeTe™ | @) T&o IR, wEwrse |

Series-A 4 ROS



oMy IR (AiRere)) qe uem —2017
26. ‘GRS 1 GEATIH I AT ?

(a) .U, A (b) TISHhd SIS
(c) WL TH.TH. 94 o (d) TEAE IR
27. International Ozone Day is celebrated on
(a) 14" September (b) 15" September
(c) 16™ September (d) 17" September
28. Which element is found abundantly in the crust of earth ?
(a) Nitrogen (b) Carbon (c) Oxygen (d) None of these
29. The thickness of the smoke is measured by
(a) Deposit gauge (b)  Sonkin impactor
(c) Bubbler method (d) Liegean sphere
30. The LPG in our domestic gas cylinders gives a foul smell due to
(a) Ethane (b) Methane
(c) Ethyl Mercaptan (d) Methyl Mercaptan
31. Which one of the following Acts has been replaced by the enactment of FEMA ?
(a) FERA (b) Indian Copyright Act
(c) Patent Act (d) None of the above

32.  Which one of the following is the best indicator of measuring Economic Development ?
(@) Employment (b) Trade (c) Consumption (d) National Income

33. NITI Aayog is the new name of
(a) National Development Council (b) Planning Commission
(c) Finance Commission (d) None of the above

34. What was the target of GDP growth rate per annum during 12" Five year Plan ?

(a 7.0% (b) 7.5% (c) 8.0% (d) 85%
35. Which unit of valuation is known as ‘Paper Gold’ ?
(a) G.D.R. (b) Petro dollar (c) Euro (d S.D.R.
36. Which of the following two states have got equal representation in the Rajya Sabha ?
(a) Gujarat and Madhya Pradesh (b) Rajasthan and West Bengal
(c) Karnataka and Odisha (d) Bihar and Maharashtra

37. Which one of the following Committees examins the report of the Comptroller and
Auditor General of India ?
(a) Public Accounts Committee (b) Estimates Committee
(c) Committee on Public Undertakings (d) Committee on Subordinate Legislation
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The passage of which one of the following bills by the Parliament authorises the
Government to spend money out of the Consolidated Fund of India ?

(a) Finance Bill (b) Public Bill

(c) Appropriation Bill (d) Money Bill
Authority to alter the boundaries of states in India resets with whom ?
(a) State Government (b) Parliament

(c) Prime Minister (d) President

ISR 3 feere we Siar &

() l4fgaers b) 15fqaRs () l6faa=wst () 17 faaer =
I 1 37era geeft & STl Teel TR WL WA H R S E ¢

(a) TggeH (b) A (c) JATEeH (d) T FETE
U ST FEaT 9Tt ST 8

(a) TenifSe s gm (b) TR SHFT gRT

(c) oW UG gr d) fafse e g

TS ITART | 3T a7t T .S 7 feiet 8 31 aTeft SeeeR 719 1 SR 7

(a) 39 (b) fae= () ZUBAWHTH (d) Humea meer
freferftaa & @ 619 91 W@ AT (FEMA) o S T Sed] T 8 ?

(@) WU (b) 3fPea FidiTee T

(c) T TR (d) 39U | T hiS T8I

3Tiefen foermd A= & foru frmferfiga & @ 9 9e@ s=s1aUs © ?

(@) TSR (b) =AAR (c) 3w d) TERr 3T
Hifa st ferger T A R 2

(a) TS foepme aftwg (b) ST A=

(c) Tora smam (d) 39U | T hiS T8I

E Jeasia ASHT H el Tic] 3caTG (GDP) 1 Wi gfg ot sl S R o7 7
(@ 7.0% (b)) 7.5% (c) 8.0% (d 8.5%
e freftor i forg 31s w1 ‘sl @l wErsmar g

(a) SIELIW.  (b) U SR ) I (d) THE.EAR.
fr= 1 9 T & Ul 61 UsmEyn 8§ gae gfafRe we @ 2

(a) TSI UF HEAICH (b) TSN Ud ufeey sred

(c) hieeh Td Jfeam (d) Torgr wd HenrSe

Frteftaa o & i wiufa wria & Fases 9o aeeres 6 faie o1 9deor sl 8 ?
(a) <o o giufa (b)  STeherd Fftfa

(c) HIeST(eh ITHl W FfHfd (d) Yoo eI Tt giufa
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qYe g Ffeiaa 1 9 form faees o uTiid 819 W & TR R4 i gied [HiY 8 o1 =59 o
Hhdl g ?
(a) Fmfless (b)) g fagEs o) fafemfagss @) o= fagss

A § T <ht TS et shi Srferd fehereh 918 It 2 7
(a) TATHX  (b) &EQ (c) wumEA (d) Tsgard
Which schedule of Indian Constitution contains provisions for disqualifying Legislators on

grounds of defection ?
(@) X -Schedule (b) XI-Schedule (¢) IX-Schedule (d) XII- Schedule

Who invented the world wide web (www) ?

(a) Albert Eixstein (b) Stephen Hawking

(c) Bill Gates (d) Tim Berners-Lee

For which crime was Nand Kumar given death sentence ?

(a) Rape (b) Murder (c) Forgery (d) None of these
Who used the term ‘Pakistan’ for the first time ?

(a) AliBeg (b) Muhammad Ali Jinnah

(c) Fazlul Haq (d) Chaudhary Rehmat Ali
Which term was used for measurement of land in medieval India ?

(a) Jital (b) Charai (c) Khut (d) Jarib
The technique to study to check the Breast Cancer by X-Ray is called

(@) Mammography (b) Venography

(c) Laproscopy (d) Endoscopy

A person is driving towards west. What sequence of direction should he follow so that he
is driving towards South ?

(a) Left, Right, Right (b) Right, Right, Left

(c) Left, Left, Left (d) Right, Right, Right

Out of 100 students in a class, only 39 passed in Mathematics and 47 passed in Physics.
Then, at least how many students failed in both the subjects ?
(a 12 (b) 14 (c) 43 (d 51

A farmer, on being asked how many animals he had in his farm, replied, they are all
buffaloes except 48, all cow except 47, all goats except 46 and all horses except 45 and no
animals other than these. How many animals did the farmer have ?

(a) 186 (b) 124 (c) 93 (d) 62

In a town of 10,000 families, it was found that 40% buy newspaper A, 20% buy newspaper
B and 10% buy newspaper C. Also 5% of the families buy A and B, 3% buy B and C, 4%

7 Series-A



50.

40.

41.

42.

43.

44.

45.

46.

47.

48.

buy A and C. If 2% buy all the three newspapers, then the number of families which buy
none of the newspapers A, B and C is
(a) 1400 (b) 6000 (c) 3300 (d) 4000

A man travels from P to Q by a car at 30 kmph and returns back from Q to P at 40 kmph
by the same route. His average speed for to and fro journey is approximately

(a) 32 kmph (b) 33 kmph (¢) 34 kmph (d) 36 kmph

IR Gfaam 6t & @ g § faumeel i, caeed & YR W, TSI W S 6l
AT ?

() G —-X (b)) I -XI  (¢) IEEEI—-IX (d) ST — XII
o 13S I8 (www) ohT JATTssh R fere femam o 7

(a) 3Tcsd IATEHIET 3 (b) F%A gIfhT A

) foamema @ fmmsg-<fiq

¢ AR o Tohd TIUY o TeTT Jogevs fean T ¢

(a) eATehR (b) & (c) STrerETfl (d) 3B TE

“qTfeREa™’ T6g T TEet IR ST fohar foparm 7
(a) 3Tt T (b) HEWE e =TT (c) ol & (d) e wua et

HETTEAA WA H i |1 I16g Y -HTIH o ToTT SYer grar &1 7
(a) Sfiad (b) =g ) &d (d) s«

S HET shl Se T -1 8 A 6l deh-1eh <l shad &
(a) HHETH (b) fITh (c) TR (d) TSIl

U Hfea ufvay St 3R aTe =1 @1 7, 39 feumaii o forg 3ushy w1 gHE ST AT aTfeh
ag gfetur femm o 918 =et |eh ?

(a) i, g, gl (b) T, g, s

(c) i, s, st (d) g, g, gt

I 100 ferenfi=i i v e o haw 39 feemeff o & qer 47 formeff wifae fogm § Sl
U, T 0 T fore foremeff g forsali 7 srefif @ & 2

@ 12 (b) 14 (c) 43 d 51

T TR & 3Tk HH | e 3h1 T I8 I T, I8 IR fean foh 35eh avft e 48 i
BISH HH, 47 I Bigh At TR, 46 1 DI T THRET qAT 45 HI DI T 1S B TAT Toh
ST i 3T T T8 & | 39 foha™ o B | Hat fehad AR o 7

(a) 186 (b)y 124 (c) 93 (d 62
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49. 10,000 YRS 9Tt Tsh & T UTAT 74T 156 40% (TTa9Td) 3RGER A i, 20% 3RGER B & 9T
10 % T@ER C ! @ied & | 78 it foh 5% 9iam A 991 B €Fi 1, 3% B AT C SIA1 bl a1
4% A QAT C Tl ! Wlied 8, afe 2% qier 41 & sreer wlied 8 @ 34 aiEr i g
Fa <hifr, < 5 @ T oft srEer i T8 Tl |
(a) 1400 (b) 6000 (c) 3300 (d) 4000

50. U oAfdd R gy 30 fop.fi. ufd wer i It @ P A Q I T hidl g 3R 3H AW F
40 fop. 41, wfe =2t <l =TT & Q ¥ P 9T9E el ®, 3Teh! TH-SH <hl AT shl oI 3NMHd
W‘&ﬁ"ﬁ:
(a) 32T gfq = (b) 33 Tl ufq =er
(c) 34 Tp.fi. gl eer d) 36 bt ufq =er
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PART -11
Optional Subject
(Any One of the Following Subjects)
01 - ECONOMICS

51. Which one of the following is NOT an assumption of classical theory of employment ?
(a) Full employment (b) Laissez-faire policy
(c) State intervention. (d) Perfect competition

52. Under the liquidity trap conditions, an increase in money supply will
(a) increase investment
(b) increase level of employment
(c) reduce the rate of interest
(d) have no effect on interest rate, investment and employment

53. Which one of the following is NOT included in estimation of G.N.P. ?
(a) Corporate income tax (b)  Undistributed profits
(¢)  Social security contributions (d) Transfer payments

54. If the consumption function is C = 50 + .75 Y, then the value of multiplier will be

(a) 1.33 (b) 4.0 (c) 8.0 (d 3.0
55.  “V’in the equation MV = PT and ‘k’ in the equation M = kPT are

(a) not related to each other (b) the same

(c) interdependent on each other (d) reciprocal of each other

56. Which one of the following Excise Duty is levied by State Government ?
(a) Excise Duty on Cement (b)  Excise Duty on Sugar
(c) Excise Duty on Cars (d) Excise Duty on Liquor

57. Under progressive taxation, the real value of tax on a given level of real income :
(a) decreases under inflation (b) rises under depression
(c) rises under inflation (d) remains unchanged under inflation

58. The receipts from the disinvestment of Public Sector Undertakings are shown under which
one of the following sub-heads in the budget of Government of India ?
(a) Non-tax revenue receipts (b) Non-debt capital receipts
(c) Revenue receipts (d) Debt-capital receipts

59. Which one of the following conditions is NOT found for consumer’s equilibrium under
indifference curve analysis ?
(a) Indifference curve is tangent to price line.
(b) Slope of indifference curve and price line is equal.
(c) Marginal rate of substitution is decreasing.
(d) Indifference curve is concave to the origin.

60. Output elasticity of an input in Cobb-Douglas production function is
(a) afunction of all inputs (b) constant
(c) greater than unity (d) indeterminate
Series-A 10 ROS
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T - 11
U< fowa
(= ot & & et us faw)
01 — e

frferfea 5 @ i weh TR % wiafesd frgra ot w1 721 8 7
(a) TEIM (b)) IFE@EAAM  (c) TS T&M (d) ot wcenfira

AT ST <Al et # g1 9fd H gfg BH W

(a) Frowdgfgarft (b) USTR &R ¥ gfg Bt

(c) IS hl e T it grft (d) =T e, FeRT 3T USHTR T ehis THIE T8 &
freaferfiea 5 & 1 &1 U Hebet TS 3edTq o HATeherd § Ffeferd el feman wmar 7

(a) T 3 (b) Ireraia AT

(c) TR Y& STRIEH (d) TETA YA

FE ITURT Hed C = 50 + 0.75 Y &, T T[0T o1 §ed BFT :

(a) 133 (b) 4.0 ) 8.0 @ 3.0

TR MV = PTH V’ a1 ST M = kPTH °k’ B :

(a) U e H IEHEd g | (b) THEAFE |

() T gal W e vt 2 | (d) T e HIFhA 3 |

frfetftad & & i |1 IcTE oo T ThRI g ST foha ST & 2

(a) T W 3T ooh (b) TR T 3e9TE Yooh

(c) hTl T IETE Yooh (d) IS T 3G Yooh

Tferafiet ShURIAUT o ST=Td ITEfareh 31T o Teh feU §T TR T 3 1 aTEdfarsh 0o :

(a) W ThIfd % =l gear g | (b) = % i ST g |

() o1 Thifd s FF=rfd sgar g | d) g1 whife % r=ata srafafda war |

ratteh & % YAl o fT-asT & TIe bl W LR o §wie § fohd IU-3ideh o A=id
femmn ST g 7

(a) TR-=R Torea et (b)  TR-3R0T gt wrfeert

(c) Torea Tnfeeat (d) FRUI-YST et

ALYl aish fergetvor o Susiiert Grqe % fore frferliga wraf # & s o we =i ars wireft 7
(a) TEAT a5 HITd TG HI T FAT R | o

(b) AT sk AUT Hd 1T I STl SR BT 2 |

(c) Hiar wfaemoa i aedi g a2 |

(d) AT T3k e forrg & eIt 2T § |

e SITd IcdTe el H Teh 377e] (SY2) whi IdTE ol Biel &

(a) Tt 3T (3TYCH) T Th Bl (b)) f&r
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(c) T AH d) SAuiei

The relationship between elasticity of demand (e), Average Revenue (AR) and Marginal
Revenue (MR) is shown by which of the following formula ?

MR AR
(a) e= AR - MR (b) e= AR/MR (c) e=MR/AR d e= AR - MR

According to Ricardian theory of Rent, the receipt from produce and its cost will be equal
for

(a) marginal land (b) sub-marginal land

(c) super-marginal land (d) None of the above

In case of Complementary goods cross elasticity of demand will be
(a) Negative (b) Zero (¢)  Unitary (d) Infinite

Implicit costs are

(a) equal to total fixed costs

(b) comprised entirely of variable costs

(c) payments for self-employed resources

(d) always greater in the short run than in the long run

The most important factor determining peoples consumption is
(a) Marginal efficiency of capital (b) Liquidity preference
(c) Disposable income (d) Rate of investment

According to Engel’s Law of consumption, the following commodities are likely to have
income elasticity of less than one
(a) Garments (b) Motor car (c) Cosmetics (d) Wheat and Rice

In Cobb-Douglas production function Q = AL*KP there will be increasing returns to scale,
if
(@ oa+p=1 (b) a+p>0 c oa+p>1 @ aoa+p<l1

In an economy of two individuals (A and B) and two goods (x and y) general equilibrium
of production and exchange occurs when

P
X _ X
(a) MRTXy = Py (b) MRSXy (For A and B) = Py
A_ B - A_ B
(c) (MRSXy) = (MRSxy) (d) MRTXy = (MRSxy) = (MRSXy)
Find out the price elasticity in the following example :
Price Demand
5(P)) 10Q))
4(P,) 15(Q,)
(a -25 (b) +35 (c) +4.0 (d +25

Under Cournot model of Duopoly each duopolist will produce
(a) Half the output (b)  One fourth of the output
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(c) One sixth of the output (d)  One third of the output
fr=fafaa o @ fova gz gro 1in 61 A (e), 3Ed 3 (AR) T o= 39 (MR) & =
ey Yeiid fera Srar g 2

AR MR AR
@ e=3r-MrR ® °€=MR ©  e=AR @ e=AR_MR
TEhIE o T TG o STTER ScTE & WTCat 37 Heh! T1Td SRIs &It -
(a) a9 (b) T-FWT A h
(c) ATy-¥mm= (d) ST H 8 HIE &
ek T3 1 [T Y Tferer= g
(@) FHEE (b)) T () THEBER  (d) A=
T AT & :
(a) et FR AN & ST (b)  had YRR ATl T GHTIISS
(c) AT TEET 1 YT (d) CYelepTeT o YehTael STeUehlct | Hed 3Tfeh
SfIET o SUMIT bl MY i FTA T HEY0! hIh & :
(a) Ul St Hfra HripererdT (b) T qE=gTt
(c) SIS 3T d) FEewdie
TFST o IUAT Fm o STHER = a3t 1 3T @19 3oh1s o A g 1 TrTaT & -
(a) @ (b) WIETHR (c) WA  (d) U FEA
HTe ST 3edTe Herd Q = ALYKB T 9 & agu wfawer shi ean 2rfl, afe -
(@ oa+p=1 (b) a+p>0 ) a+p>1 @ oaoa+p<l1
a1 =R (A 3T B) Td g1 a&g3T (x 3R y) arefl U rderayn § Icred 3R fafrar & amm=
Tt T BT § 7 -
P, _ P
(a) MRTxy_P—y (b) MRS, (A 3B % o) = b,
(c) (MRSxy)A:(MRSxy)B (d) MRTxy:(MRSxy)A:(MRSxy)B
=1 Sereter 4 Shimd o= T T sy
Himd T
5(P)) 10(Q,)
4(P,) 15(Q,)
(a) -25 (b) +35 ©) +4.0 d +25
FHAIE o GATRIHH Higet | Teeh gAY foheT IcqTe hirm ?
(a) UG ST AT (b) 3ITUTEH I Th-<NUTE
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

1 st

(c) ST h < T (d) 3T H1 Th-TaeE
Given competitive conditions, a firm in the long run earn
(@) Quasi-rent (b) Pure-rent (c) Normal profit (d) Economic profit

Near money is correctly defined as one of the following :

(a) Assets which has 100 percent liquidity.

(b) Asset which has no store of value function.

(c) Asset which is a medium of exchange.

(d) Asset which fulfils the store of value function and can be converted into a median of
exchange at a short notice.

Given the consumption function C = 0.8 y and investment function I = 102 — 0.2 i, then IS
curve will be

@) y=500-10i(b) y=450— i © y=510-i d) y=505-2i

Wagner’s hypothesis is associated with

(a) Public receipts (b)  Public expenditure

(¢)  Supply of money (d) Public debt

Marginal cost of pure public goods is

(a) Zero or near zero (b) one

(c) Dboth (a) and (b) (d) more than one

If elasticity of demand is perfectly inelastic, then burden of tax will be on
(a) Buyer (b) Seller

(c) on both (a) and (b) (d) More on seller

If G, > G, in Harrod Model, then economy will gain
(a) Boom (b) Constant Growth (¢)  Fluctuations (d) Depression

The theory of stages of growth is associated with
(a) Simon Kuznets (b) W.W.Rostow (¢) Paul Samuelson (d) Colin Clark

As per Micro, Small and Medium Enterprises Development Act, 2006, Medium enterprises
are defined with investments of the following :

(a) Less than 25 lakhs (b) " 251lakhs to " 5 crores

(c) " Scroresto " 10 crores (d) More than " 10 crores

A monopolist is able to maximise his profit when
(a) his output is maximum

(b) he charges higher prices

(c) his average cost is minimum

(d) his marginal cost is equal to marginal revenue
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Price discrimination will be profitable only if the elasticity of demand in different markets
will be
(a) uniform (b) less (c) zero (d) different

iR <t feufd o et § Teh BH AT @ -
(a) HAg-aH (b)) Torg-am (c) ETHTI &y (d) 3Tfies ey

Tene g1 1 Tt aftrmyy FefaReq A a st g 2

(a) TiEeT S 100 Sfesd Tt 2 |

(b) ufEmfa frw Yo 9= &1 SR T8 7 |

(c) Ut S faf 1 wmem § |

(d) ufErafRd St e @9 1 SR g0 S 8 a9 8 31ew ga ) i o wrem 5 s
T T fomam ST Tehar 2 |

fe, UM %o C = 0.8y & 37 Few1 wet = 102 — 0.2i &, <1 IS 913k &I
(a) y=500-10i (b) y=450- i (c) y=510-i (d) y=505-2i

TR qfeheddT graifa @ -

(a) HreSTeh TTfeaat | (b) HTeISIeh =T
(c) g1 hi gl @ (d) FrESieh /o &
[ DT S ohl HHT AT # -

(a) [ 3N I % Bl b) Th

(©) (a) W (b) Al (d) THY AE

e T <l A quid: SR 8 d 3 b1 YR TS -

(a) 3hl W (b) TSt ™

(©) (a) AR (b) THI W (d) ferrar T 1R
Il gUS WA H G, > G, T« ST 1 T BT -

(a) 3chy auM (b) TRrREglg (c) I=ATE=H (d) AIEE AT A
Tlg ol ITEATHAT 1 G TFferd 2 :

(a) @TEH orieE F (b) YT, T H
(c) Ui TR ueE | (d) Hifer T 4

T&H, Y U9 Hem It fasm Afufm 2006 o AR 9o et i ffaiad faw afy
o g aieTiYd fopa & -

(a) 257@ 9 HH dH (b) 25@M@E 5 HUS dh

() 5HUST" 10 HUS dh @ 10HUS T AfIH

Teh USRI 9T o1y qeft 1fereham o Tehdl & 91 -

(a) 3HeRT IcqTe AfIhaq 2 | (b) T& St S T 7 |

(c) 3Hh! 3TEd AT =JHaH & | (d) 3Eeh! T AT HHT=T STTTH & SR 2 |
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S favig emmrget quft g afg Stem- 3rer S | Ti 6 e gt
(a) THTHH (b) A ) I (d)  STHT-3TE

Net value added is equal to

(a) Payments accruing to all factors of production.
(b) Compensation to employees

(c) Wages + rent + interest

(d) Value of output — depreciation

Investment Multiplier is a

(a) ratio between income and investment.

(b) ratio between investment and savings

(c) ratio between consumption and investment
(d) None of the above

If other things remaining the same, the quantity of money in Fisher’s approach has
(a) direct proportional relationship with price level.

(b) direct proportional relationship with value of money.

(c) inverse proportional relationship with price level.

(d) no relation with the value of money.

Who propounded the theory of unlimited supply of labour ?
(a)  Schumpeter (b) Rosestien Rodan
(c) Mill (d) Lewis

Modern economic analysis suggests that payment made to a factor of production is
influenced by

(a)  Supply of that factor (b) Its derived demand

(c) Its marginal productivity (d) All of the above

Which principle of Public Expenditure is related with “greatest good of the greatest
number” ?

(a) Principle of Sanction (b) Principle of Benefit

(c) Principle of Productivity (d) Principle of Co-ordination

The final resting place of a tax is called
(a) impact of taxation (b) incidence of taxation
(c) effect of taxation (d) shifting of taxation

The most important source of Public Revenue is
(a) Taxation (b) Fees
(c) Fines and Penalties (d) Subsidies

“Any asset capable of serving as a temporary abode of purchasing power is money.” This
definition of money is given by
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(a) Milton Friedman (b) Gurley and Shaw

(c) Francis Walker (d) Crowther

forsTg Hou TagH SUeA 7

(a) 3T o Tt |TEET ol fohT MU ST o6 (b)  SHHTIT Shl G3TTEST
(c) TSIGY + THTM + ST o6 (d) ITATEH I Yo — oI
o ores @

(a) 3T UF T3t 1 7T (b) T TE S=A 1 AU
(c) 39N Td ferst w1 31U (d) YU | T his A&l

Jfe 311 ST T9H T T g1 aRwmor fagr shi fher g &1 778 ST o 18R
(a) hITd TR H T ST Jraee g g |

(b) g1 oot § HieT ST qre g B |

(c) hma &R H foudia STuTfaes arsrg g g |

(d) H5T % qed o U HIE T TE BT R |

oo <ht SrEfifira gt w1 fagra feper wfeafea femam

(a) e (b) TTEETEHA (¢) fHAA (d) ogEgd

3y feh 3TTiie forveryor < gemn © foh Icarer & T Wi fohan ST STl A HTfad BT | -
(a) 39 9TEA hI g | (b) 3Eh! U~ T A

(c) FHeh! €T IATGH & (d) I gt §
grSifen < &1 i 91 figra “37fe @ 37fes AT <l STl 8 SATel oy 8 grafd @ ?
(a) a1 fagra (b) o = g

(c) 3cUTEshdT o1 g (d) 9= g

T ] Al 38U hadldT &
(a) HUE (b) U (c) HLIAE (d) o foadq

T 3T (eh 3TTH) Sh1 T T Hgwequl |d & -
(a) TR (b) Ueh (c) FITSTIIHH (d) WNGH
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“oprg afefer S shawifer o Sl fam % &9 § ewar wadt 81, gg1 8 |7 gl <l 9g uier
R
(a) TrecA®EHT (b)) TATWAA  (¢) WG  (d) HRAWA

Which indivisibilities have been described in Rodan’s development model ?
(a) Indivisibilities in the production function only.

(b) Indivisibilities of the Demand only.

(c¢) Indivisibilities in the supply of savings only.

(d) All the above indivisibilities.

The Exponent of Critical Minimum Effort thesis was

(a) Liebenstein (b) Schumpeter (¢) Domar (d) Meade
Economic growth is measured by

(a) increase in national income (b) increase in infrastructure

(c) increase in economic welfare (d) urbanisation

When two or more firms in an industry come together and fix their prices and production
to avoid competing with each other, they are said to be

(a) Formation of Monopoly (b) A Cartel

(c) An Oligopoly (d) Monopolistic Competition

Economics of scale is related to
(a) reduction in cost of goods (b) more income less investment
(c) less consumption more income (d) less output and more costs

If cross elasticity of demand for a commodity with respect to the price of another
commodity is positive, then the two commodities are
(a) substitutes (b) complementary (c) indifferent (d) None of these

The ratio of total derived deposits and total primary deposits of commercial banks is called
(a) liquidity (b) security (c) credit multiplier (d) profitability

Mortality rate can be measured among which of the following ?
(a) Crude death rate (b) Standardised death rate
(c) Life time (d) None of the above

A concave production possibility curve indicates
(a) Constant opportunity cost (b) Decreasing opportunity cost
(c) Increasing opportunity cost (d) None of the above

Kalecki’s theory of income distribution is based on
(a) Degree of monopoly (b) Risk and uncertainty
(c) Perfect competition (d) None of the above
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“Popular enthusiasm is both the lubricating oil of planning and petrol for economic
development.” This statement is made by
(a) Lewis (b)  Singer (c) Nurkse (d) Dobb

T o forehre wisel § s €t SAfouTsTas 1 aue g ?
(a) hacl ITTC Hord bl ATTHSIATE  (b)  <helcel T <hl STTATTSHAT
(c) <hacl =i oh Yfd shi JrfarvTsIaT (d) Suded ot stfawrsaman

hTfTeh =—LIqH ST THGT=T ol TG o7 -

@ e\ (b)) (c) S @ e
3Tife Tgfg HI AT -

(@) THEImEAaly (b) FreETe H iy

(c) 3TRieh seamo H Ifg (d) TR

5o forefl ST A < W Q1 9 St B Uk T e o 39 ScTed T hIHdi sl 39 TR
fafvea sedt 2 T 32 To |t § Wiaedgl A el o 11 39 o 1 a1 ST @ -

(a) UehTIehT b1 famior (b) HIeA

(c) 3ITUTRR (d) TSR St
G <) S=d] T G BT R

(a) o ATl ST H (b) 3feres g wn Few g

(c) 3Tferes 37T 1 9T 9 (d) Y IcTeT T 31feres ANTdl 9

fg forelt g b fotu g i 31t () o fopelt 31— a%q <61 <himd < AU | g1 B asl

(a) TIFEES (b) T () TEEA|ME@dA (d) 379 H B &l
SATEHTRI Sehi hl ol Sed~ TS qAT et Afireh TS o I D! gl AT 8 -
(a) e (b) F&a (c) §T@IH (d) TYEd
Teg o b foraferfiad § @ fepereh R ATaT ST B 7

(a) 3TeNTed 9 & (b) TS TI X

(c) H¥qul SfieH T (d) ST ¥ DI T

TATeX IcATCH THTEHT 5k TErid T B

(a) TOR 3EE amE HI (b) T g STTE AN bl

(c) gl §F ITTE AN ! (d) ST T ¥ DI T

Foreeh! o1 371 T g smuia 2

(a) USRIUhR & N W (b) SiRgw 3T AMTTHaaT W

19 Series-A



101.

102.

103.

104.

105.

106.

107.

108.

109.

(c) ot wfernfirar @ (d) 3T U ¥ DI Tl

“S IcETE, TEAT-FRISH % U aTaves 9 3R oniiE e % i e-am § 17 W
HITE —

(a) TIEI B (b) TR (c) - H (d) SEH
According to Marginal Productivity theory of distribution, income of a factor is equal to
what kind of productivity ?

(a) Total productivity (b)  Average productivity

(c) Marginal productivity (d) All of the above

Relative scarcity implies relative cost of production which would then determine :
(a) Exchange rate (b) Interest rate

(c) Relative prices (d) Absolute prices

The relationship between consumption and disposable income as termed by Keynes is
known as

(a) Propensity to consume (b) Consumption function

(c) Effective demand (d) Aggregate supply

In Sweezy’s Kinked demand curve hypothesis of Oligopoly, demand curve is
(a) Price inelastic in lower side

(b) Price inelastic in upper side

(c) Price elastic in lower side

(d) Elasticity is same at upper and lower side

Which type of demand for money is the most sensitive to the change in rate of interest ?
(a) Transactions demand (b) Precautionary demand
(c) Speculative demand (d) None of the above

According to Schultz, which one of the followings is NOT a method of developing man-
power resources ?

(a) Before job or on the job training.

(b) Health facilities and services.

(c) Migration of individuals to job opportunities.

(d) Distribution of unemployment allowances.

Which of the following economists is of the view that “Demand for commodity is NOT
demand for labour” ?
(a) Adam Smith (b) Ricardo (c) Malthus (d J.S.Mill

To which of the followings, Engel’s curve is related ?

(a) Quantity of a commodity demanded at various price levels.

(b)  Quantity of a commodity demanded at various income levels.

(c) Price of commodity A and demand for commodity B.

(d) Relationship between quantity demanded of two supplementary goods.
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With reference to price discrimination theory of Pigou, a monopolist is charging different
prices for different units of the same commodity from same buyer. This is known as
discrimination of
(a) First Degree (b) Second Degree (c) Third Degree (d) Fourth Degree

forawoT < HHT=T STTGehdT TG o TR Teh 9 hi 3T 3Heh! Tohdl ThR hi IcdTeehdl
SIS EI & ?
(a) eI 3cATCHAT (b) I SATGhT  (c) T IcqTegehdl (d) 3 |t

HIUE GUHAT § 7RI 3G oh! ATIE TARTA 9 3 S (LR i & -
(@ FfmEaEs b)) SIaEH (c) HUGHHAiw (d) e Hmdi

U T IS 3T o off= A4 bl ohedl oh STTHR STHT AT 2 -
(a) UMM E (b) UM HEA T (c) IME@EME  (d) THUGH

TSt o STeuTiershi < fersbiera Wi ok Uit |, | a5k gl & -
(a) ! T A o Tid SAER (b) HI HI T hHTd & Ifd TR
(c) < T HiHd & Ifd AR (d) SR U= SHl W A THH BT |

Torm wehr i g1 <t 11, =TSt g0 | uiaaH o Sfd daifere daeTsiia gt g ?
(a) HieTAM (b) Hdehal L@ AT (c) TWEIHM (d) TH A RE T

I[ost oh SFER, T H | Torg wa dmeA foeh i e oty 78 wrt S ?
(a) </ gd AT HRIT TRTE

(b) e gfawd vd dard

(c) UREfdd s 3TERl o HRUT SHAfea] T T

(d) STSETRY Wl o T

Tt sredemerit 3 9 fergrent 7 gieeeniv & fob “areq <h1 =i 9w <61 i & & 2”7
(a) TUeH fary (b) Trwrel (c) HeoH (d .ug. i

ufSter ook = 0 @ fopeg wrafRma & 2

(a) Tafir= Frma s w ot awg 61 1irft 7€
(b) Tafer=T 3 v X fopeft awg bt ATt 78 W
(c) A T¥] i ShiHd Td B T& i AT

(d) 3 TR <hl wiT TS e H Ty
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i o hma fang fagr o Te § T THITRI T & shal § T & awg <hi iy sersa
o foru fafi=r imd o 2 | =18 hima favg &

(a) YHIviE (b)) fgfemfiswm () JEEOfiw  (d) Fqd A

Which one of the followings is known as National Income ?

(a) GNP at factor cost — Depreciation — Indirect taxes + Subsidies
(b) GNP at Market price — Depreciation — Indirect taxes + Subsidies.
(c) Net National product at Market prices.

(d) Gross Domestic Product + Factor income from abroad.

According to classical theory of employment, changes in the quantity of money affect only
(a) Real wages (b) Level of employment
(c) Level of output (d) Price level

Which of the following is measured by the formula :
Birth in a particular year recorded + Possible Birth % 1000

Mid Year Population
(a) Crude Birth Rate (b) Corrected Birth Rate
(c) Completed Fertility Rate (d) Standardised Birth Rate
Among the following who is NOT related to Biological theories of population ?
(a) Michael Thomas Sadler (b) Raymond Pearl
(c) Carr Saunders (d) Corrodo Ginni

According to theory of Demographic Transition, population explosion is related to
(a) First stage (b) Second stage (c) Fourth stage (d) None of these

Which of the following does not cause a shift in aggregate demand ?
(a) Consumption (b) Government expenditure

(¢) Investment (d) Prices

Revealed preference theory of demand is given by

(a) Paul M. Sweegy (b) Marshall
(c) Paul Samuelson (d) Hicks
Quasi-Rent arises from

(a) Land

(b) Labour

(c) Capital
(d) Factors whose supply in the short run is inelastic.

In case of perfectly inelastic demand, demand curve will be
(a) Vertical straight line parallel to Y-axis

(b) Horizontal straight line parallel to X-axis

(c) Positively sloped
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(d) Negatively sloped

A loss bearing firm will continue to produce in the short run so long as the price at least
covers

(a) Average variable cost (b) Average fixed cost

(c) Both (a) and (b) (d) Marginal Cost

1 o 9 fopg Tndia ST T AT @ 7

(a) HT9H AT W GNP — eI5TE — W& T + TR
(b) STSIR WA W GNP — JeIg™ — TU& L + THEH
(c) SR hHdl W foLg TS 37Tg

(d) T TRE] 3CUTE + TS & ST H1eE 3™

FATIGh! TSR FAgT=d oh STTHR 5T h! WA § TR shael SWTTerd Shid! & :
(a) dTE(ereh HSIGH (b)  TSHTR o &R hl
(c) 3TUTEH o T ol (d) I T H
g O = d | Rl a2
Toreft wep o # g fohU U ST + FrTferd S
T8 % W Sl TG X 1000
(a)  JPITRIA ST T (b) TEMTerd S| &
(c) EFI{d &I T (d) HhIshd ST &X
= 1 O B S & Sk g 8 T T8 8 7
(a) TSP ATHYT USTH (b) UE T
(c) SR ATSH @) S =
SHIfoReh! FsRAYT FAgT % STTAR SEE foehie T 2 -
(@) YHTWE (b) fgf@=wd (o) wEEEUE () FTHEABE T
= 9 @ 9 guw g 1 T2 Rgwepmar ¢
(a) UM (b) TN = (c) Traw (d) ma
i1 w1 Tehitd i g fean mn 2
(a) Uil TH. TSl o g (b) TN & gHT
(c) Uiel BEueTH % gl (d) TEFEHIA
T 1 3q— BT & -
(@) 9@¥
(b) W
© dsa

(d) 37 TreH @ fent qfd STedehrel § Seliaer 8t & |

quicr SefiereR Wit <ht feufe #, wim sk g
(a) Fearer Hieft [ar S Y-3787 o TR @ |
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(b)  &fast el Tar S X-3781 & THETR 2 |
(c) ©HTcHe &Ted aTedl
(d) BUMTcHh gleT dledl

Teh T I i Tet! B STeqehTel § ScaTe ST Wit STel ek <hidd g o -

(a)  3TEa qiEdsfiet STd i (b) 3Ttgd fRR @ =t
(©) (a)Td (b) QI =l (d) = AT
“Big Push theory” is propounded by

(a) Rosenstein Rodan (b)  Schumpeter

(c) Nurkse (d) Marshall

As per Leibenstein’s theory of critical minimum effort, every economy is influenced by
two forces

(a) Demand and supply (b) Savings and investment

(c) Cost and Revenue (d) Stimulants and shocks

Which one of the followings is not a type of growth rate as mentioned in Harrod-Domar
model ?

(a) Actual growth rate (b)  Sustainable growth rate

(c) Natural growth rate (d) Warranted growth rate

Theory of Demographic Transion is propounded by
(a) Malthus (b) Karl Marx

(c) Thomson and Notestein (d) Mrs. Joan Robinson

The child who is called infant is in the age group of

(a) 0-5years (b) 0-4 years (c) 0-2years (d) O-1 year
In the initial stage of development, population explosion occurs primarily due to
(a) sharp decrease in death rate (b) afall in both birth and death rate
(¢c) increased rate of immigration (d) asharp increase in birth rate

Under which of the following conditions, a monopoly firm does not enjoy monopoly

profit ?
(a) MR =MC (b) AR >SAC
(c) LMC=MR=LAC=AR (d) LAC<AR

Under which market conditions “products of the sellers are differentiated yet they are close
substitutes of each other” ?

(a) Monopolistic Competition (b) Monopoly

(c) Perfect Competition (d) None of the above

Who is credited for the concept that there could be equilibrium in an economy at less than
full employment also ?
(a) J.B. Say (b) Keynes (c) Fisher (d) Milton Friedman
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Which of the following is Stock concept ?
(a) Capital (b) Investment (¢) Income (d) Profit

Which of the followings is not covered under macro economics ?

(a) General Equilibrium (b) Equilibrium of a firm

(c) Inflation (d) Economic growth

“s Tah o1 g’ Tfaurfed fern 2 -

(a) UFLFATSHA (b) e d (c) THEA (d) Hfed

A o shif=es =T Jom faga & SER T Jreferae g wifdat & yufed gt
2
(a) AMUEYdE (b)) FIAAAMFEANE () @AM IAHEY (d) IR qAT HhI °

fr=fefiaa d @ 9 & ue fawm o ge-sm Aiga 4 aftfa form i d a7 € 2

(a) ST Ihg (b) FadIhg T

(c) STpldeh Ihg T (d) arfsaafg e

SHfeRehd HshHuT <1 firgT=a Sfaarfed feram 2 -

(a) WoUH (b) TS HTEE o

(c) oTHET quT Aefeea 3 (d) et St e 3

| o= =l fRrg] hed &, SHh T TR & -

(a) 0-59% (b) 0498 (c) 0299 d O-19%
Torerma b1 TRfRYeR SraEen § SHEE foemie Trfis &9 8 IO BIaT | ¢

(a) FIRH A e & (b) STH qUT Y S aHI | FREe d
(c) TaTE hl T ge XA (d) SHRATIIGH

=1 Srerenai O O ford weh UenTiUeRY, WH UshITeh R o1y &l ITed oht Tl ?
(@) MR =MC (b) AR >SAC

(c) LMC=MR=LAC = AR (d) LAC < AR

fopg ST o “Fershaal < IcTg H forsic BiaT @ fobeg Wt IcUTG Toh GER o Shilell ST Bd & 7
(a) UShITehRIcHes Ticiar § (b) THIEHR T

(c) ot wfernifirar & (d) 3IWIe T T HIS T

TH 1IN o T ferwrent 911 feam ST & fob wen arefeuawen # QURISTR & 9 W o T &l
AT & ?
(a) IR (b) HEHR (c) Trmre (d) Toee Bl H
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130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

= 1 9 pH o) U Wi SEURn E ?
(a) (b) e ) ™ d) <™

T 1 9 form gmfse s1efvme o aftrfera 9 foman siran 2
(a) TERTGAT (b) BHB TG  (c) Tl Thifd (d) oniie wafg

Assume that the required ratio is 10 percent and bank receives ~ 1,000 deposit. What is the
excess reserves ?

(a 100 (b) 9,000 (¢) 900 (d) 10,000
The degree of Monopoly power can be measured by the formula :

P-MC b AR MR d MC
@ ® AR-MR © AR-MR @ AR_MR

The general equation of budget line or price line is

(a) Qx-Px=M+Py (b) Px+Py=0
(©) %:Qx (d Px-Qx+Py-Qy=M

‘Normal Profit’ means

(a) Profit earned by the marginal firm in a normal year.

(b) Minimum amount needed to keep a firm in the same business.
(c) The payment made to marginal firm for its ability.

(d)  Surplus profit earned by the least efficient firm.

When a consumer is in equilibrium, MRS xy is 2.5. If the price of commodity Y is = 16, then

what will be the price of commodity X ?
(a) 740.0 (b) 64 (c) 7232 (d °24.0

Laffer curve is related to

(a) Tax rate and tax revenue.

(b) Aggregate tax and aggregate non-tax revenue.
(c) Total tax burden and total payment burden.
(d) Total income and total expenditure.

Who coined the term “Hindu Rate of growth” for Indian Economy ?
(a) A.K. Sen (b) Raj Krishna (c) Kirit. S. Parikh (d) Manmohan Singh

Which of the followings cannons of taxation have been propounded by Adam Smith ?
(a) Economy, Elasticity, Simplicity, Sufficiency.

(b) Certainty, Convenience, Economy, Elasticity.

(c) Economy, Co-ordination, Convenience, Expediency.

(d) Equity, Certainty, Convenience, Economy.

Interaction of Multiplier and accelerator is known as
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132.
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(a) Investment Multiplier (b) Employment Multiplier
(c)  Super Multiplier (d) Dynamic Multiplier
Among the following, which one is NOT in six components of Bharat Nirman ?
(a) Housing (b) Water supply
(c) Afforestation (d) Electrification
A e 6t STRfd ST 10 faera g 3T s &1 1,000 1 =T 9o Bt @ | ST
HYFTE ?
(a) 100 (b) 79,000 () 900 (d) 10,000
TSI Irferd o 3791 <l HITH 1 HF & -
P-MC AR MR MC
@ ®  AR-MR © AR_MR @ AR_MR
FTe @1 YT hIHd W@ T FHT FHIHT 2 -
(@ Qx-Px=M+Py (b) Px+Py=0
P
© 3= @ Pr-Qr+Py-Qy=M
T A | AT 2 -

(a) T % g A 98 § 31fed o1y

(b) T =IAH WA S HH bl 3T HGER H T W@ o foTT 31ma9as 7 |
(c) T wH o ITEh! AAT o SR T ek T YT

(d) =T HrIpe BH g 31fla 3rfaies v

Teh SYNTERIT  Hge hl el 8 MRS, 2.5 % | 3fe o Y 1 61 16 2, 1 X g bl
o o= grft ?

(a) 40.0 (b) 64 (c) 7232 (d "24.0

B Ik T R

(a) LI LT H Y YT AT o (b) THU HT AT THY N R 3MH &

(c) A HL VR AT el AW WR & d) PAATIFASIA

TR Srefeeree < o “wdfg i fomg g1 w1eg fepd et ?
(1) TH AT (b) UIHOIA (c) Torlewq. vi@d (d) wHE fbg

HRY o fferaa fagrat @ ven fary 3 o1 ¥ fagr wfaufea e 2
(a) Toaeafan, Sreficrar, @tetar, W (b)  Fivaaarn, giawn, s, desfteran
(c) TraeaRran, T, giaer, smevasar (d)  wEE, Hivadar, giaan, fasRa
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140. VT TH TG ! ST=AATRAT (3T T3haT) bt ST ST & -
(a) FEITURE (b)) USRS H  (c) IR H (d) TTCATCHS Uk &

141. 71 5 @ M W1 U AR Foin o ©: gehi 7§ T E 7
(a) 3™ (b) regfd (c) IUHU (d) forEdeRTa

142. Backward bending supply curve is related to which of the following factors of production ?
(a) Labour (b) Capital (¢c) Land (d) Entrepreneur

143. Which of the following taxes is helpful in reducing inequality in income and wealth in an

economy ?
(a) Proportional tax (b) Progressive tax
(c) Regressive tax (d) All of the above

144. Which one among the following is not a tool of Fiscal policy ?
(a) Taxation (b) Bank rate
(c) Public expenditure (d) Public debt

145. What does Game theory assume ?
(a) The rival firm makes effort for sales maximisation.
(b) No alternative choices are available to firms.
(c) The rival firm mostly adopts a strategy which is unfavourable for other firms.
(d) The firm aims at profit maximisation.

146. Monopolistic competition in comparison to perfect competition ensures
(a) lower price and higher output.
(b) higher price and lower output.
(c) price goals to marginal cost.
(d) output at the minimum average cost.

147. “If the factors are paid according to their respective marginal productivity, the total
product of the firm will be completely exhausted.” This statement is of

(a) Wiksteed (b) Mrs. Joan Robinson
(¢) J.R. Hicks (d) J.B.Clark

148. The Green Revolution have mainly been successful in
(a) Rice (b) Wheat (¢c) Gram (d) Maize

149. In which year Kisan Credit Card Scheme was introduced ?
(a) 2001 (b) 2005 (c) 1998 (d 1999
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151.

142.

143.

144.
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146.

147.

148.
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Government has issued an ordinance announcing ULIP as “insurance product”. The
regulation of ULIP will now be done by

(a) SEBIlonly (b) IRDA only (¢c) Both(a)and (b) (d) Government of India

At present in India Foreign direct investment limit (through government) in
Telecommunication sector is

(@ 80% (b) 85% () 90% (d) 100%

gyt it sk fe Icated % e | @ fored g €

(a) W (b) TSHH ) 9qmd (d) ZeEta

Teh ITgaET T f1 o0 § T i |1 L 3 e &4 shl STHHTT bl hH i H HE=—h I 7

(a) STUTfCh L (b)  SATIrRfTel ot (c) et s (d Jusf

=1 4 9 o =1 T Tetehi Hifd 1 ST AEi B 7
(a) ST (b) ShTE (c) HENMHHT  (d) TSI Bl
T fagra Sl T = g ?

(a) e W g stfiesan farshl &1 RImE

(b) I I TATH I fehed IqcTed T BT |

(c) Wfg-al ®H g 317 Bl & foru whget =g Hifa s
(d) H T ATIHAH ATH HT 323

ot gfcRnfraT st g 4 uehtfersrrrares Sfornfirar giifeed s 2 -

(a) Y hHITd Tg ek 3T (b) 3feres SHiHd Td A 3T

(c) T AT & SO hiad (d) =Fau Ed AN T IATE

“Jfg Iceh A9 1 $Heh! HHTT IcaTgehdl oSS TEHR feaT ST a1 1 1 Trqul 3cure
qUid: HHTS &1 ST |7 98 B 7 -

(a) Taredis (b) fmed S Tfereed &

(c) .3, e @) .. FAh BT

B Tl T 9% 88 &

(a) =EAH (b)y TEH c) =°H (d) WHFRIH

fopuT shfse Sh1E ATSrT fohet o o S I T8 7
(a) 2001 (b) 2005H (c) 1998% (d) 1999 #
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150.

151.

152.

153.

154.

15S.

156.

157.

158.

159.

TIHT GRI Teh 7T AR fohanm o1 g =Nfyd st g€ 6 e (ULIP) weh “sfimr 3came” 2 |

31§ A9 (ULIP) 31 T femam S
(a) hact SEBI N (b) had IRDA g
() ()T (b) TFI gM (d) WG TR g

A H HRA H GLEER &3 H Yeaed forait ot <l € (Sl qrem 9) 2 -

(a) 80% (b) 85% () 90% (d) 100%
The top three trading partners of India in 2014-15 were :

1. UAE 2. Korea 3. China 4. USA
Select the correct codes given below :

Codes :

(@) 1,2and3 (b) 2,3and4 (¢c) 1,3and4 (d 2,1and4
Prime Minister Shri Narendra Modi gave slogan “Make in India” on

(a) 23" September, 2014 (b) 25" September, 2014

(c) 1" October, 2015 (d) 26" J anuary, 2016

“Repo rate” is the rate of interest at which

(a) Commercial banks lend to RBI.

(b) RBIlends to Commercial banks.

(c) Commercial banks lend to the customers.
(d) Commercial banks lend to the agriculturists.

A graphical illustration used to explain efficiency conditions and demonstrates how the
reallocation of some goods and resources can be improved through exchange, is called

(a) Production Possibility Curve (b) Edgeworth Box Diagram

(c) Phillips Curve (d) Social indifference curve

Which of the following is NOT a component of PQLI ?
(a) Morbidity (b) Infant mortality
(c) Life expectancy at age one (d) Basic literacy at the age of 15 years

Which one of the following economists is associated with Portfolio approach of demand
for money ?
(a) Keynes (b) Tobin (¢) Friedman (d) Baumol

Which of the following strategy is generally adopted by a developing economy in early
stage of development ?

(a) Neutral technical progress. (b) Labour-saving technical change.

(c) Capital-saving technical change. (d) No technical change.

A tax imposed on monopoly profits can be
(a)  Shifted forward (b)  Shifted backward
(c) Both (a) and (b) (d) Cannot be shifted.
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161.

152.
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154.
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Which one is NOT the debt obligations (Government Liabilities) of the Government of
India ?

(a) Consolidated Fund of India (b) Provident Funds

(c) Small Savings (d) None of the above

If the total production in an economy is produced by “a few big firms” than this market is
known as

(a) Monopolistic Competition (b) Duopoly

(c) Oligopoly (d) Discriminating Monopoly

TN 2014-15 H WRA s SATIR H T4 2 AR & -

1. 34Uz 2. oI 3. =M 4. Y UET.
%< :

(@ 1,23MW3 (b)) 2,334 () 1,334 d 2,134

T ot g WS 7 Teh 39 3vgan’ w1 A feam o
(a) 23 Toamr, 2014 1 (b) 25 faam, 2014 =
() 1 3THE, 2015 I (d) 26 G, 2016 I

‘WM AT Hag @ g oE T :

(a) SHATGHIRI Seh TR e deh hI 3uR T 2 |
(b) T fieTd Seh SHATEETRI Sohi ol IUR & 2 |
(c) AT S TTEehI ol IUR ¢t 2 |

(d) SR S FHTh] I ITR <ell 7 |

U @A et Iu Hererar i fefaRn b1 avia et 7 o6 fopm w3 st qen
YT 1 4 3TTeed fafoer & mrerm & gumn S aehdr &, SEarar | -

(a) 3cTET TSHT ash (b) TSad Siew W@

(c) TofeTam s (d) T qeEAdT 95h

T 5 8 1 | U waesh N . 31 (PQLI) H afRiferd 181 & 7

(a) ®Or (b) fereg weskem

(c) T Y hi MY T Sha Jemem (d) 1599 <t 31T W Hifetsh Tremar
o arefenfit ® & b 91 U g1 A o dewifer gk & Trafea g

(a) &4 (b) 2feq (c) Ihieda (d) wTSHEA

e Torenarsfiet srelegaen gry foerm <kt urfeyres staeen 8 fora genr bt wiHifa =1 =i feran
ST g ?

(a) T dehrlehl SATI o (b) HH-S=d deheh! Tad sl
(c) USht-sr=rd qehrieh! IR o (d) RIS Teh-iTeh! TETH T8l
TS TTRIShRI SATHT T AT TRT L
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

(a) 3 feafda feram s Eepa 2 | (b) Ui 6t 3R feafda e T aspar 2 |

() (a)TH (b) GHI (d) foafda =&t foran ST ERaT ? |

I T Th WA FHR 1 UG (FHHI aand) T & 7

(a) WRd st gufehd e (b) sy ffert

(c) g e (d) IogE A @ B &

afe foreft srefeacen o “$o o BH” (A few big) TPIUT IcdTed HId & A1 T8 SR HEAT & :
(a) UehITIhIIcHh T (b) Teferer

(c) TSR (d) TavercTes ThIfteR

Optimum theory of population shows the relationship between
(a) Population and Food supply

(b) Population and Overall resources

(c) Dependent population and working population

(d) Present population and growth rate of population

For a given population, which of the following seems to be correct with respect to fertility
rates ?

(a TFR<TMFR (b) TFR=TMFR (¢) TFR>TMFR (d) ASFR=ASMFR

Population explosion in a country takes place due to
(a) Birth rate is high.

(b) Death rate is high.

(c) Birth rate is high and death rate is low.

(d) Birth rate is high and death rate is high.

Share of private final consumption expenditures (at constant prices) in GDP of India in
2015-16 was around
(a) 49% (b) 55% () 59% (d) 64%

Which of the following rate is NOT suggested by the GST Council of India ?
(@ 5% (b) 14% (c) 18% (d) 28%

Which is NOT a component of Pradhan Mantri Mudra Yojana (PMMY) ?
(a)  Shishu (b) Kishore (c) Tarun (d) Vayask

Which of the following has not been in negative in recent years in the Indian economy ?
(a) Trade balance (b)  Current account balance
(¢) Income (invisibles) net (d) Capital account balance

Identify the crop having the largest area under cultivation in recent years in India.
(a) Wheat (b) Rice (c) Pulses (d) Oil seeds
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171.

172.

162.

163.

164.

165.

166.

167.

168.
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The sector having the lowest share in Industrial production Index India is
(a) Basic goods industries (b) Capital goods industries
(c) Intermediate goods industries (d) Consumer goods industries

What is the value of Human Development Index for India as per Human Development
Report 2015 ?

(a) 0.516 (b) 0.572 (c) 0.609 (d 0.676

The necessary condition for determination of firm’s equilibrium in factor market is
(@) MRP=MFC (b) MRP>MEFC (c) MRP < MFC (d) None of these

SIEEAT 1 STeRetad g fereh Hed e Sdetar 8 ?
(a) SHEEA TE @ 3L % &=

(b) STEEAT AT U 1L o i

(c)  STTHA SMEEAT aUT RN STTEET & s

(d) TAHH S 3R TN H ghg @ =

Torefl SrE o ToTu fore O 9 goieeet & gvay 3§ i 91 981 Idid 2idi 8 ?
(a) TFR<TMFR (b) TFR=TMFR (c¢) TFR>TMFR (d) ASFR = ASMFR

fepelt Qa9 SeE forepre fohg aeg AT R 7
(a) S THEH (b) SNTI R
() TR A IRFF IA=NH (d) STHEHA NI IS 4

2015-16 H WA <h1 i E1HY. # Fsf tf=<m 3uwhn =9 (STe] hivdi 9X) 1 5 o S -
(@) 49% (b) 55% ©) 59%% (d) 64%

T 1 Sft . & h1sfiet 7 fohel gt ohl T TE i & 7
(@ 5% (b) 14% (c) 18% (d) 28%

I T HIesh N g1 A # wfrferd T 7 ¢
(a) Trg (b) TeraR (c) o®u (d) TT=H

AR 31efeaeret o &t & 991 § 4= § § I 91 SR0TTcHe T8 & ?
(a) AR Y (b) TEQEC@IN  (c) W (W) YG (d) IS @rar Ay

BTl h 91 ° WA | UH] B8 9180 fS8eh 37atid S191 TR 8% gaifies @ |
(@) g (b) =& () T (d) faere
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170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

WA % SR IcaTeH arehieh § forereh! fawe =gan 8, s & & -

(a) eI I%g T (b) dsfima % 3@
(c) WESd a&q IGN (d) SR & e

HTg T fdié 2015 o STTER IR & AT foshrd Faehieh o1 o fohaa1 8 ?
(a) 0.516 (b) 0.572 (c) 0.609 d) 0.676

T TSR H Teh B o ol o (40T % foTe STrawres ord 8

(a MRP=MFC (b) MRP>MFC (¢c) MRP<MFC (d) 33 IS al
Which of the following instrument is NOT used by RBI as quantitative method of credit
control ?

(a) Bank Rate (b) Cash Reserve Ratio

(c) Open Market Operations (d) Regulation of Consumers Credit

Which are the following stages of Demographic Transition suggested by Thompson ?

1.  Pre Transition Period 2. Non-Transition Period

3. Transition Period 4.  Post Transition period
Select correct answer from given codes.

Codes :

(@) Only 1 and 2 are correct. (b) Only 1, 2 and 3 are correct.
(c) Only 1, 3 and 4 are correct. (d) 1,2,3 and 4 are correct.

The index of Industrial Production is changed from 1993-94 to

(a) 2000-01 (b) 2004-05 (c) 2009-10 (d) 2014-15
Which of the following is an investment ?

(a) Betting a horse race (b) Buying a new car

(c) Building a house (d) Extending a loan

Disguised unemployment is common phenomenon in one of the following :

(a) Banking sector (b) Agriculture

(c) Heavy industries (d) Consumer goods sector

Which one of the following is related only to individual demand and not to market
demand ?

(a) Utility analysis (b) Indifference curve analysis

(c) Revealed preference analysis (d) All of the above

MV
In Fisher’s Quantity theory of money equation P = T which of the following variables is

NOT a flow variable ?
@ M b)) V c T (d) None of these
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174.
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Formula to determine optimum population as given by Dalton is

A-0 A+0O 0O-A O+A
(@ M=—g5— (b)) M=77 © M="— @ M="%
Which one of the following is normally NOT included in production cost ?
(a) Cost of raw material (b) Cost of storage of product
(c) Cost of advertisement (d) Transportation cost

Which of the following is true to Euler’s theorem of factor pricing ?
(a) Constant return to scale (b) Static and risk free economy
(c) Perfect competition (d) All of the above

Tt FoTel sfeh G | o TR0 B hIM |1 U0 HIEATCHh ST oh & H TN & T&i <
STt ¢

(a) B (b)  Thg HISTITA

) o aR hH fspamd (d) UM 9 &1 e

ATFTE o G SHITheh] shAUT sl i & FfRed s saems T & 7

1. 99 HshHY HTe 2. TR-HHAY HA

3. HshHU A 4, I HHH HIA

feu Tu e & T ST g -

HIE :

(a) hael 1 IIN2EH T | (b) haed 1,2 33T T |

(c) hadl 1,33MM4THE | d 1,2,334af2 |

3AelifiTes gErehieh 1993-94 @ 5eet o, L e :

(a) 2000-01 (b) 2004-05 (c) 2009 — 10 d) 2014-15
fedasaafewsd ?

(a) ISEIS W TS THT | (b) T 7§ HR GHeT |

(c) U HehIH I [4HI0T AT | (d) SR |

= 5 1 e | Tt g8 (SesT) SUSHTRY Teh || a2 § -

(a) dfRTEFH (b)) FNH (c) WRISEMIHA  (d) Iu¥Ed a%] & |
71 o B <RI <herel SaferTl AT & Feafeerd &, SIS AT H T 7

(a) U forgeiwor (b) TEIAT Tk Targetsor

(c) 3cEied AfmM fagarmo (d) 39U g+t

W%%WWWP:gﬁﬁﬂaﬁﬁﬁﬁWﬂmﬁﬁ% ?
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180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

(@) M (b) Vv c T (d) 9 E B TR

STHATTH SIEEAT % R g Sleed gRI fean man g @ -

(a) M=% (b) M=% () M=% (d) M=O;ZA
= 4 9 fore amT=Ia: SedqTe wTa | wfirfera & feran e 2

(a) = AT S AT (b) 3CUTE % HUE hl AR

(c) Torsmom <t erTd (d) Ui ArTd

T Hmd IR 6 JR T S TSI A A A G R AR TAE 7

(a) TR IM % yfaea (b) TAfcres wd ifam e sreferaen
(c) ot wfernfiran (d) I gt

National income equation Y =C + [ + G + X — M is related to

(a)  One sector economy (b) Two sector economy

(c) Three sector economy (d) Four sector economy

Net factor income from abroad in estimation of GNP in India has been
(a) always negative

(b) always positive

(c) sometimes negative and sometimes positive

(d) not known

M, (Reserve Money) in India includes

(a) Currency in circulation + Banker’s deposit with RBI + other deposits with RBI.
(b) Currency with Public + Banker’s deposit with RBI + other deposits with RBI.
(c) Cash with banks + Banker’s deposit with RBI + other deposits with RBI.

(d) Currency in circulation + Banker’s deposit with RBI.

“Handbook of Statistics on Indian Economy” published by
(a) Government of India (b) Reserve Bank of India
(c) Indian Statistical Institute (d) Ministry of Finance

Non-Developmental expenditure of State Government includes
(a) Interest payments (b) Administrative services payments
(c) Pension payments (d) Developmental expenditures

Sources of Money stock in India includes

(a) Net RBI Credit to Central Government

(b) Net RBI Credit to State Government

(c) Other banks’ investments in Government Securities
(d) All of the above

Census of India 2011 is
(a) 15" in regular series (b) 7™ since independence
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191.
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183.

184.

185.
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(c) 2" of the 21" century (d) All of the above

The full form of C.S.O. in India now is

(a) Central Statistical Organisation (b) Central Statistical Office
(c) Central Standard Organisation (d) Central Subordinate Office

National Statistical Commission is constituted on

(a) July 2006 (b) June 2010 (c) August 2012 (d) September 2015
Inflation expressed in terms of consumer price index in India is known as
(a) Cost push inflation (b) Demand pull inflation
(c) Core inflation (d) Anticipated inflation
T ST TR Y =C+ 1+ G+ X - M T2 -

(a) Ueh &g Adeqaeen @ (b) < & el
(c) i s sredeyawen @ (d) =R &= sreferewen ¥
YA shl GNP o 3TTehetd | fIeeT & U 3[g T1eH ST & e

(a) EHSM HOTHS (b) EHSM GATcHS
ORI ENIR ERCEX IR (d) a1 &l

WRA H M (3Tferd HeT) H |feiferd & -

(a) T H B + To5Td S o ITE Seh] shl SHTY + Fisrel Soh o 919 7= SHTd

(b) ST % I LT + Tt Seh o I Sehl bl THIT + To5Tdl ok o I8 377 SHTE
(c) Sohl o UTH Tehe] + TIsTd Sieh o UTH Sehi shl STHTY + TiTdl Sioh o ITE 37T STHTY
(d) = 4 HEH + Tiwrd S o ure Sehi ht s

“RUESHh IATh TAEENT 3 S0 FhHIH” TehTITA hl ST & -
(a) WA BUhR g (b) R e S g
() 3fvead RicHIHhd sEIege gl CORRESKEISREA

T LT o M- Toreprg =i & wffrfera 2 -

(a) TS YA (b)  TRTTE{Te TS T YT
(c) USM YA d) foems=m
YA § GgT Tieh o Hidl H Afedford & :

(a) RBIGRI ¥ ThR & AL A (b) RBIgRI T ALHRI i fag[g A
(c) T Sehl g TR Ufeferai # femr (d)  Iwier &t

W H S0FT 2011 © -
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(a) 153 AR SJ@en | (b) TEdT 7

(c) &, 21 wdt i () ITed gl

190. C.S.0. %1 378 i faeami@ &9 2 -
(a) e Liewdishd IATHEAIN (b) B Lo ATty
(c) Toel WUSE IMHIEAIH (d) oo FEATEAS HTHT

191. S Rfexiehet e qefud foram ma
(a) TATE2006H (b) IF2010H (c) 3ITRA2012H (d) Ta=R2015H

192. g1 Thifd ST wRa § JusierdT hivd fewne & Twed o e sl ATt &, ST St 2
(a) TTa Ufd a1 hifa | (b) Wi Sfea g1 whifa |
() H (BR) ga1 whifa | (d) STty gg1 Thifa &
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oMy IR (AiRere)) qe uem —2017
193. Narrow Money (M,) in India includes
(a) Currency with public
(b)  Other Deposits with RBI
(c) Demand Deposits
(d) Coins + Currency notes + Demand deposits

194. Major heads of capital receipts of the Central Government includes
(a) Net Market Borrowings (b)  Small Savings
(c) Provident Funds (d) Direct Taxes

195. The full form of NITI Aayog is
(a) National Institution for Transforming India
(b) National Individual for Transforming India
(c) National Institute for Transitional India
(d) Natural Islet for Transport Involute

196. Which one of the following is incorrect statement ?
(a) Per capita NNP at factor cost in 2013-14 is about * 39,900
(b)  Per capital GNP at factor cost in 2013-14 is about * 46,000
(c) Per capita NNP in 2013-14 is more in comparison to per capital GNP in 2013-14
(d) Per capital GNP in 2013-14 is more in comparison to per capita NNP in 2013-14

197. National Research Centre on seed spices is situated at
(a) Tabiji (Ajmer) (b) Lalgarh (Bikaner)
(c) Pahuna (Pant Nagar) (d) Aroma (Ranchi)

198. Financial year of the Government in India begins from
(a) Calendar year (b) Ashwin Sukla
(c) Beginning of April (d) Kartika Saka

199. In India, which one among the following formulates Fiscal policy ?
(a) NITI Aayog (b) Ministry of Finance
(c) Finance Commission (d) Reserve Bank of India

200. In order to control inflation, the Reserve Bank of India should
(a) Sell Government Securities and Lower Bank Rate
(b) Sell Government Securities and Raise Bank Rate
(c) Purchase Government Securities and Raise Bank Rate
(d) Purchase Government Securities and Lower Bank Rate
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193.

194.

195.

196.

197.

198.

199.

200.

WRA H Hepfad g1 (M) H |iFfera 2 -

(a) ST o 9TE il (b) R &5Td Sh & T8 37 SHT¢
(c) WIS (d) Toah + o) + Tears (|mm)
el TR T it wifeEt <At v wel # wftafora 7 -

(a) WT9IR ¥ 3G 39X (b) B =d

(c) wiasa Mot d) TIF

NITI 3T <7 fereaTiid &9 8 -

(a) R SEICIIM B ZFIBIHT 3fUear (b)  AvHd sfusfagaet B gawIfti gfugan
(c) T I HR TSt 308 (d)  Foiel e B IS SaIeg

(a) TTEE AT W ¥ Ao fogrg TS 3emg (NNP) 2013-14 5 49 39,900 7 |

(b) T AT R Ifd SAfekT Tehel TSET 3ATE (GNP) 2013-14 8 69 * 46,000 B |

(©) 2013-14 § wft e foregg T Icumg (NNP) S9me @ ek 201314 ¥ wfd safa
Hehed TS 3cUTE (GNP) &

(d) 2013-14 ¥ ¥fq =afaq Tohet T 3G (GNP) ITQT 8 3T&Thd 2013-14 § it =afaa
forsrg Tt 3eg (NNP) %

TS ST TRTTeT I g fea 8

(a) TS (3FSHR) | (b) WTenTE () §
(c) UE (9 TR) H (d) 3w (=) |
W H T 1 foreia o e aran g -

(a) ohelvgtey & (b) 3TREH It A
(c) 3T I IEATT & (d) Il T T
qd | = § @ s Torenrey ifd s fmfu s g ¢

() Hfgsmm () fou O (c) Toma smam (d) WA e S

g1 Thf =Bl Tehel o ToTQ et fewrdl sfep 1

(a) ETHRI TRl bl ST AT S ST I T HTAT ATMRT |
(b) T Ufayfc=I ! SI=HT G2 Sfeh G ol S@HT AT |

(c) TR UffcRIi <l WRIEAT qer S X ! §HT =1 |
(d) T wfayfa=n w1 @ieT aun s gt i HH HET AT |
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PART - 11
02 - STATISTICS

5 1 1
It is given that P(A U B) =6 P(A N B) =3 and P(B®) = > where B€ is complementary

event of B, then events A and B are
(a) Independent (b) Dependent
(c) Mutually Exclusive (d) Cannot be determined.

If three letters are to be put in three addressed envelopes randomly, the probability that
none of the letters are in the correct envelope is :

0 b L 1 o L
(a) ) 3 © 3 d 3
If X is the sum of points obtained by throwing two dice, then the probability mass function
of X is given by
((x—1 ((x+1
(x36 ) ;x=2,3,4,5,6,7 (x36 ) :x=2,4,6,810,12
\( 36x).;x:8,9,10,11,12 k( x36 ). (357011
((2x-3 ((2x+1
( x36 ) s X = 2’374’576’7 % X = 2,3,4,5,6,7
—< i,
© px)= (12 + x) (d pk)= (12— x)
L 36 ;x=879’10711’12 KT ;X=8,9,10,11,12

1 1 1
Given P(A) = 3 P(B) = 1 and P(A/B) = I3 the probability P(B/A) equals

1 3 3 1

@ 3 (b) % © 3 @ 3

A random variable x has mean 3 and variance 2, then the greatest value of P[ | x—31>2]is
1 1 1 3

@@ 3 (b) % © 3 @ 7

A continuous random variable x has the probability density function :
f(x)z{kxe‘b‘;xzo,?»>0

0 otherwise
The value of the constant k is :

1 1
@ 2 b 3 © A @ A

If the joint probability density function of (x, y) be

2 ;0<y<x<l . e .
f(x,y) = { 0 othgrwi);e then the conditional distribution f(y/x) is :

2

X 1 1 1

(a) E,0<y<x (b) Z,0<y<x (c) ;,O<y<x (d) ;,0<y<x
A discrete random variable x takes three values —1, —2, 3 with probabilities

1 1 1
P 1) =73 P(-2) =3, p(3) =3, then E(1 x 1) is :

4
3

1
(a) (b) 2 © 3 d 1
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S1.

52.

53.

54.

SS.

6.

57.

58.

ROS

T — 11
02 — gifeTeh

ﬁmgaﬂ%P(AuB):%,P(AmB):%ﬁIP(BC):%,aﬁBC,Ba%WW% | 99 T

A 3T B W&

(a) A | (b) WA |

(c) IT9aS g | (d)  Trerer & ST e |
aﬁ?ﬁq%ﬁaﬁ?ﬁ:{w%@ TU fTwTi 7 Agfee® &9 § TG 8, a1 39 91d 6l JTRiehdl fh &g
%ﬂwaﬁ%qﬂﬁ%ﬁﬁr@w#ﬁ

1 1 1
@ 0 ® © 3 @ 3
Ife S ITET oh ek I ITH 37hi o1 T X 8, a1 X 1 JTRehdl 3TN Held eI ST
(Ll o234567 (EED 24680012
(@ pO=y q3_ (b)  p(x) =9
\%;x:8,9,10,11,12 k%;x=3,5,7,9,11
% . x=234567 (% . x=23456.7
(©) p(x)=< (12 +x) (d) p(x):< (12 - x)
T3¢ X=89.10,11,12 | Tag 3x=89.10,11,12
fé?TITPJT%P(A)=%,P(B)=i3ﬁ'{P(A/B)=%,?ﬁ§IT&IWP(B/A)$TW@TH
1 3 3 1
@ 3 (b) % © 3 @ 3
¢ Teh ATg oo =X x BT IS 3 TUT TG 2 7, 1 P[ | x— 3 | > 2 | 31 HEaH HH &
1 1 1 3
@@ 3 (b) 7 © 3 @ 7

Tsh Hid ATg <D T x I JTTehdT Bcd %ol & :
{kxe—M x>0,A>0
f(x) =

AT
RTs kF AT :
1 1
(a) 22 (b) % ) A @ A?

;0<y<x<1

. 2 ..
Elﬁ(x,y)aﬂag?ﬁmﬁwaﬂc—crwqf(x,y)z{o ST g, d gufqay &
f(y/x) R :

X 1 1 4
(a) 2,O<y<x (b) 2x,0<y<x (©) x,0<y<x (d) x2,0<y<x
@mﬁﬁmmxaﬁm 1, -2 3R 3 e & et siRrekan f &
p-1= 3p( 2)= 3p(3) LB x BT
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10.

11.

12.

13.

14.

15.

16.

17.

4 1
@ 3 (b) 2 © 3 d 1
S x=12345
If P(X — x) — 15 ’ X = et e L]
0 otherwise
1 5
The probability of P [5 <X< ﬂ IS
1 2 3
(a) 7 (b) 15 (©) 15 (d) None of these

If X and Y are two independent Poisson variables such that P(X = 1) = P(X = 2) and
P(Y =2)=P(Y =3),then V (X -2Y) is
(a) 6 (b) 14 (c) 22 (d) None of these

If X and Y are two independent random variables such that
EX)=0a,,V(X)=0,?
E(Y)=a,, V(Y)=0,°

then V (XY) is :

(@) 0,20,2+0,%0,>+ 0,2 6,? (b) o0,20,%+ 0%’

(c) 06,20,2 (d) None of the above
1”02

1
For a negative binomial distribution, letn=3 and p = 1 Then the value of E(X) is :

(@ 5 (b) 6 () 8 d 9

The probability mass function of a random variable X is given by P(X = x) = k C(l) ;

x=0, 1, 2,...n, where k is a constant. The moment generating function of X is :

1
@ d+eHr/2" (b) 2°/(1 +ehH" (©) 501 1 o0n 1 +e) (d 21 +ehHn
If X is distributed uniformly over the interval (3, 5), then the variance of X is given by
1 4
(@ 1 (b) 4 © 3 @ 3

In a Poisson distribution with parameter A, the probability that the random variable X is
even, is

(@ er+1 (b) %(eMl) () er+1 (d) %(e—hl)

In a normal distribution, if 75% of observations are more than 5 and 75% of observations
are less than 11. The mean of the distribution is
(a 3 (b) 5 (c) 6 (d 8
If X follows exponential distribution with probability density function
f(x) =bexp[-b (x-a)] ;
a<x<o,b>0
then the mean and mode of the distribution are respectively
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(@ a,b+alog?2 (b) a+%,a (¢c) a,b (d) a,a+%
X
59. IePpX=x)=19 15 ’x_1’2’3’4’saﬁmﬁw PB<X<%}EFIIIF{%:
0 3I=¥AT
L by = N i A
@ 3 ) 73 © 73 ()

60. Ife X I Y T a7 WEl =L 39 ThR & {6

P(X=1)=P(X =2) 3R

P(Y=2)=P(Y=3)d9 V (X-2Y)?

@ 6 (b) 14 (© 22 (d) TTH 9 I TRl
61. dfe X I Y T a7 =R 38 YHR 8 fh

EX)=0a,, V(X) =02

E(Y) =a,, V(Y) = 0,>

TV (XY)?:
(@) 0,20,2+0,%0,>+ 0,2 6,? (b) o0,20,2+0%0,’
(¢) ©6,20,° (d) 3T H F HIS &I
62. foret smomeneh fgug ST A AT fh n = 3 3 p :i% | 96 E(X) 1 9T 81 :
(@ 5 (b)y 6 (e 8 @ 9

63. @W%%HIX%TET&WWWP(X:x):k@);x:O, 1,2...n%, &l k Teh 37N

2 | X T SATE! b et &N -
1

@ (420 (B) 2/ (1+e)  © Grgiem @ 2nd+e)
64. e X T THEWM e A0S (3, 5) W7, T X T TH01 &

@ 1 (b) 4 © 3 @ 3
65. WA A % WM 5 |, ATgfoseh o X o 99 g h TTRIehdT &

(@ er+1 (b) %(ehl) ) et+1 (d) %(e—hl)

66. T JETHTI 57 | ARG 75% 92a01 5 | 3170k 3 75% J101 11 A HH S | SeA HIAEA 7
(@ 3 (b) 5 ) 6 (d 8
67. A X Teh T HTTh S hT JTTHIVT BT & FehT ITRIehdT Tcd Hord
f(x) =bexp[-b (x—a)] ;a<x <o, b> 08, AT HT AT 3TN TgcTh HUM: &
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18.

19.

20.

21.

22,

23.

24.

25.

1
(@ a,b+alog2(b) a+7

b A (¢c) a,b (d) a,a+y

1
If f(x) = 5 e ; — 00 < x < o0 is the probability density function of the random variable X.

The characteristic function of X is given by

1 1
@ Ty ® Gop © 1+ @ 1-9

Let X follows standard Cauchy distribution. The distribution of Y = X? is
1 1 1 1 1 1 1
(a) Gamma (5 , 5) (b) Gamma (5 , 2) © B, (5 , 5) d B, (5 , 5)
If X, ~N (0, 1);i=1, 2. Let X, and X, be independent, then read the following statements :

11
(I  The distribution of X,? is Gamma [5 : 5)
(IT) ~ The distribution of X /X, is Cauchy.

Which of the above statement(s) is/are correct ?

(@) Only () (b)  Only (I) (c) Both(I)and (II) (d) Neither (I) nor (II)
For which of the following distributions mean and variance are equal ?

(a) Normal Distribution (b) Poisson Distribution

(c) Binomial Distribution (d) Negative Binomial Distribution

There are three boxes, each containing two coins. Box I contains two gold coins; Box II
contains two silver coins and Box III contains one gold and one silver coin. A box is
chosen at random and a coin is drawn from it. If it is a gold coin, what is the probability
that it is drawn from Box I ?

2 1 1
@ 3 ) 3 © % @ 1

Which of the following statements is/are correct ?

(I)  The mode of t distribution is at zero.

(II) The moment generating function of t distribution does not exists.

(a) Only (D) (b) Only (I) (¢) Both (I)and (II) (d) Neither (I) nor (II)

A coin is tossed five times in succession. What is the probability of getting at least four
heads ?

1 3 1 3
(a) 4 (b) 4 (©) 16 (d 16
If X, and X, are two independent chi-square variates with n; and n, degrees of freedom
(d.f), then X, /X, will follow :

(a) Fdistribution with n; and n, d. f. (b)  Chi square with n /n, d. f.

Series-A 46 ROS



68.

69.

70.

71.

72.

73.

74.

75.

ROS

n, n
© B, (7‘ : fj distribution (d) F distribution with n, and n, d. f.

1
aféf(x)=§e—'X';—oo<x<ooaT§%a;v T X T ITRIhdT Bcd BeAd & | X T 31T Hetd

]%HTGHHT%:

1 1
® T ® oo © 1+ @ -9

AT foh X A iRl e B afed 8, MY = X2 HhI & @
w m(53) o ™32 © B33 @ B33
AE X, ~N (0, 1) ;i =1, 2AM fob X, 3R X, TR W= & a1 = el &l afed

1) Xﬁemaizzrrnme,%)%l
(I) X/ X, aADEME |
T AT H M H1/H HIF Tl 88 ?

(a) ad (D) (b) e (ID) € @MIADTHET  (d) FWA DT D

=1 4 9 forereh T1e 3R yEU S B @ 2
(a) JHE ST (b) WIEl €A (c) fguesea (d) SRUTIHeh fgue seq

o oo & U T 99l U <l fes & | 59T [ H o T o foes, st [1 8 < die] o 37T S
I H U GH 3R T a1 1 e 2 | T 99 i A1gfess €9 & A1 T 37 350 d Th
Torem Freren man | wfe a7 @R @ famn w1, 91 5w e Y s9@ 19 Feee i aiResar =

gt 2

2 1 1
@ 3 b 3 © 3 @ 1
= o & o /A HeH 9E 872 2

(I) ¥ 1 Igeleh I WEAT 2 |
(II) ¢ A T SO TTeh Bl el FehTeT ST Fehall |
(a) had (1) (b) e (1) © OITADTHAT  (d) Tar @) TE D

e et i IR SITAR SSTeT1 ST @ | hH § oA 91 IS 3T <6l STkt o= grft 2
1 3 1 3

@ 7 b 3 © 16 @ 76

afe X, 3R X, QA T T8 o1 = n, IR n, TG HITE b AL 2 | T8 X,/ X, STTE HAM :

(a) F&A, n, 3 n, @AABIEFAT (b)) IS o 5 n, / n, TG HIIE & €Y
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26.

27.

28.

29.

30.

(©) Bz%%}w (d) FeA, n, 3R n, TG HIfE 6 A

Let x, x5, ..., x, be a random sample from uniform distribution U [0, 6]. The sufficient

statistic of © will be given by :

(d) None of these

=1

(@ max (x;...x)(b) min(x; ...x) (c)

For an estimator T to be a consistent estimator of 8, which of the following conditions
is/are to be satisfied ?

(D E(T)—6 asn—eo (IM) V(T)—0 asn— oo
(@) Only () (b)  Only (I) (c) Both(I)and (II) (d) Neither (I) nor (II)

Sampling error can be reduced by

(a) Non-probability sampling (b) Increasing the population size
(c) Decreasing the sample size (d) Increasing the sample size
If x;, x,, ..., x, is a random sample of size n from a population with probability density
function given by

1

— X0 . < X< oo
f(x,0)= { 0 © > O<x , the minimum variance bound estimation of O is :

0 otherwise

n+1 Xx,
() % Xx, (b) Tl with variance 6%/n
Xy, +1) — 0?

(©) Tl with variance 62 (d) u " ) x with variance "

Let x; and x, be a random sample of independent observations from N(u, c2). The
1 —
efficiency of 3 (x; + 2x,) with respect to x is

9 10
@ 7o b o ()

W [\©
O |

(d)
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31.

76.

77.

78.

79.

80.

ROS

If T, and T, are two most efficient estimators with same variance 62 and the correlation

T,+T
. ) ) 1 2] .
coefficient between them is p, then the variance of ( > j is equal to

(a) po? (b) o2 ) (1+p)c?/4 (d) (+p)c?/2
AT 1 x|, X, ... x, THEAM 57 U [0, 0] | ITH Th Agfeseh Nfde3i § | a1 6 31 TaiH Nfdee
ﬁ?JTGlTQ"IT:

(a)  IATHA (x, ... x,) (b) I (x, ... x,)
) x (d) 39U H B hIS TE

T, %1 @ 1 ETT STTheTh B o (o1 T /R H | i H1I/8 Bl HIE T M6 2
(D) E(T)—>0asn—o
(I V(T)—0asn— e

(@) e (1) (b) ke (1) © MIADIE  (d) AQ (DT D
e Ffe bt m fopa 51 wehar 8

(a) TR-grfaa gfdest === fofer gra (b) THY o TTHR ! TGTH

(c) Tfcest & TR ol HH L h (d) Tfcest & TR i TG

ATE n TR 1 Toh ATG oo TG X, X, ... x, Th GAIY, TEHT TTREAT ocd HeH

le"d9 c0<x<oo )
f(x,0)=10 7, T Toram T 2 1 0 W1 =T TH0T 9 3R &
0 AT
Y x
@ Sy, (b)) =, 02 S @
X x, m+1) - 6
© , 02 JETT o T (d) " x,;wé;wa

AT T x, 3R x, 3 TG &N 1 TEEE §e N(W, 62) ¥ JTH Th A5 Jie 3 |
% (x, + 2x,) Shl G&IAT x 3hl o1 H BT

9 10
@ 7o ® (©

W [\©
O |

(d)
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81.

32.

33.

34.

3s.

36.

afe T, 3R T, T I8 & THM TE 62 AT STheTsh & q] 37 Hel Hgaw-4 0 p &, A

T1+T2
—5 1 TET ST 2

(a) po’sh b) o2® ) (1+p)o?/4% (d) (1+p)o?/2h
95% confidence interval based on a sample of size n from a normal population N(u, 62)
with known variance 62 is obtained using the formula :

x-uy
P|-1.96 1.96|=0.05
(a) SG/\/HS |

x-uy
b) P|-1.96 1.96|=0.95
(b) SG/\/HS | 9

(c) P|-196< ;C/—z/% < 1.96 | = 0.05 where s is the sample standard deviation.

d P|-196< ﬁf% < 1.96 | = 0.95 where s is the sample standard deviation.

It is proposed to test Hy : © = 2 against H, : 6 = 1 on the basis of a single observation
x from the distribution

f(x,0)=0e%;x>0,6>0

If the critical region is x > 1, the probability of type II error is

(@ 1+e! b) el ) 1-et d e

1
Given the probability density function f (x, 0) = 9 0<x<06.If 1 <x<1.5is the critical

region for testing Hy, : = 1 against H, : 6 = 2, then the size of the test is
(@ 025 (b) 00.75 (c) 05 (d) 0 (zero)

Read the following statements and choose the correct option given below :
For a normal distribution N(u, 6%)
(I)  The sample standard deviation is an unbiased estimator of G.

(IT) The sample median is an inefficient estimator of population mean in comparison to
sample mean.

(a)  Only (I) is correct. (b)  Only (I) is correct.

(c) Both (I) and (II) are correct. (d) Neither (I) nor (II) is correct.
e . 1

Let x|, x,,...., x, be a random sample from an exponential distribution with mean X The

maximum likelihood estimator of median of the distribution is

(a) x/log2 (b) x log2 (c) log2/x (d) log, (2x)
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37.

82.

83.

84.

8s.

86.

ROS

A random sample of size 20 drawn from normal population gives sample mean 42 and
variance 25. To test the hypothesis that population standard deviation is 8, the value of test
statistic is

(a) 742 (b) 15.62 (c) 51.20 (d) None of these
n 3R o Jfdest I AL, T THE N(u, o2) e ma 561w 62 8, med p & o
95% TITamerar STaUet ST hi 1 93 8 :

x-uy
P|-1.96 1.96|=0.05
(a) I SG/\/HS |

x-y
b P|-1.96 1.96 |=0.95
(b) SG/\/HS | 9

© P —1.96526/—1/%51.96 — 0.05 ST& s wfest %1 o e 2 |

d P —1.965;—1/%51.96 — 0.95 & s Tfrest &1 o fEe 2 |

ST (x,0)=0e % ;x>0,0> 08 Teh UGN x T HEMNA Hy: 0=2HTH, :0=1%% foulia
wiequr KT 7 | Al Shifaeh & x> 1 71, at Tyt wepr <ht J{fe g 1 wfrepan 2
@ I+ (b) e © 1-e'! d e

srrﬁw‘aqc—orw]f(x,e):%;osxgeﬁmgaﬂ%|aﬁH0:e:1aﬁHl;e=2é;%rqﬂa
a0 1 & o1 1 < x < 1.5 shif=ies &3 21, a1 wieqor o1 37T 8
(a) 0.25 (b) 0.75 € 05 d 0

1 et =1 ufeu 3R i feu 1 foepeut # & et foshed 9w -

TETHT &4 N(u, 62) & for

() Sfcest o1 7 fomeq, 9afy o A faaed (o) 1 MR 3T 2 |
(II)  wifcrest <1 wrfesrshr, Tmfl wrea <1, ufdest ured 1 g | 316 3TThels ¢ |
(a) o (D FEE | (b) et (I) TE 2 |

() & (DI ADEEIE | (d AT DT AN EEE |

nT:nxl,xz....xnwmﬁmwna@mmé,ﬁwmw% 2 | mrfedeht
1 SRR FHTTST ST 2 :

(a) x/log2 (b) x log2 (¢) log2/x (d log, (2x)
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87.

38.

39.

40.

41.

42.

43.

44.

45.

ST S 8 It 20 STThR o Teh ATg (o0 fdas S 71ed 42 3R T6L07 25 7 | 9|8
T fereret 8 &, 38T W01 ohid o ford wiieror gldesist 1 0 2

(a) 7.42 (b) 15.62 () 51.20 (d) FHHBE T
The mean difference between nine paired observations is 15.0 and the standard deviation
of the differences is found to be 5.0. The value of test statistic for testing the mean
difference to be zero is

(@ o0 (b) 3 c© 9 (d 27

Let X be a random variable of continuous type with pdf

0 (3)°
f(x,e)={x(x) ; x>3,0>0

0 otherwise
Based on a single observation x, the most powerful test of size o = 0.1 for testing
H,:0=1against H, : 6 =2 rejects H;, if x <k. Then the value of k is

11 10
@ 1 (b) 4 © 3 @ 3

The estimator obtained by the method of moments as compared to that obtained by the
method of maximum likelihood estimation is
(a) Less Efficient (b) More Efficient (c) Equally Efficient (d) None of these

The maximum likelihood estimates are not generally
(a) Consistent (b) Sufficient
(c) Asymptotically normal (d) Unbiased

If n = 25, 62 = 25 and X = 25, then the standard error of mean will be :
(a) 25 b 5 ) 1 da@ 0

Area of the critical region depends upon

(I)  Size of type I error (II) Number of observations
(IIT) Value of test statistic

Which of the above is/are correct ?

(a) Only (D) (b)  Only (III) (c) Both (I) and (IIT) (d)  All (I), (II) and (IIT)
A consistent estimator of the parameter 6 in Cauchy distribution having pdf

1 1 .
S, 9)=7t 0+ G_07] ;—co<x<oo is

(a) Sample mean (b) Sample median (c) Sample variance (d) None of these

The least squares estimators of parameters in a linear model are

(h UMVU (I)  BLUE
Which of the above is/are correct ?
(a) Only () (b)  Only (I) (c) Both(I)and (II) (d) Neither (I) nor (II)
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88.

89.

90.

91.

92.

93.

94.
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ROS

A uniformly most powerful test among the class of unbiased tests is termed as

(a) Minimax test

(b) Minimax unbiased test

(¢)  Uniformly most powerful unbiased test

(d) Both (b) and (c)

Y 7 YeAult o [TE T 3T 15.0 I AU b 1= 1 A foraerd 5.0 § | I HIET 3

1 T K % ford sl wfdests 1 9 8em

@ O (b) 3 ) 9 d 27
HHT X Teh Had Agfesesh =X & free I.9.%.

83y
£(x, 8) = x(x) ; x>3,0>0

0 AT

2 | T T x W SR, 0= 0.1 % TR H,: 0= 1 99T H, : 0 = 2 % ford wreemm wigor
x<k®BINKFTAAR

@ 1 b) 4 © 5 @ 5
et fafyr & ST 3trehetes J1fershaw Tuferan fafer & wme S1eheres i qerT | B

(a) A (b) AT g&1 (c) SO & (d) TIH Y His T&I
ST TETTIAT STTeheteh TTHT=Ia: el 8 &

(a) T (b) TAH (c) ST yEME=  (d) SHEREd
Ifg n =25, 6% = 25 TG X = 25 B I H1&7 1 A (e 8

(@) 25 ®b) 5 © 1 @ 0
ShTfeieh 131 T Shel YR htal B

() TSR IR e AHR

(1) &ToTt <ht T

(II1) wkireror gieestst 1 q

IUURE AT H B I T/H TE S 2

(a) had (I) (b) <had (IID) () eI (@) @ (1), dD) T 1)
. l 1 . .
SHIgft S T8 M85, £ (x, 0) = R PRErTERL A o0 8, 0 1 T 3Teheteh &

(a) wiigRiaer (b)) wiigRiAferd  (c) WG TERW  (d) FHH B TG
&N HiSd o WTFell ol I a7l 3TTeheieh BIdT &

(D UMVU

(I) BLUE

SORE A YA O/ A Ed E 9

(a) ad (D) (b) e (ID) () TAMAA)  (d) T (DA AN
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47.

48.

49.

50.

51.

52.

53.

54.

IR TR0 o § Ueh, Ueh—&Y IRhaH ULIT0 ShaedTdl & :

(a) SIS TIe (b) TGS FHAMHTA THeqor

(c) UH-FY Ihad ST THE0T (d) TEIDb)F ()

Suppose a given set of data is normally distributed with mean 100 and variance 25.

Between which of the following values will approximately 95% of the data fall ?
(a) 85-115 (b) 75-125 (c) 95-105 (d) 90-110

A random sample is drawn from N(U, 62). Where both u and ¢ are unknown. Read the
following hypotheses and choose the correct option :

H,:pn=100,02=25

H, :u=100

H;:p> 100, 6% =25

(a) AllH,, H, and H; are simple hypotheses.

(b) AllH,, H, and H; are composite hypotheses.

(¢) H,and H, are simple but H; is a composite hypotheses.

(d) H, is simple but H, and H; are composite.

The minimum variance unbiased estimator of 6% in N(6, 1) is

1

_ _ 1 _
(a) X2%- " b)) X%+ " (c) X2 (d) None of these

Neymann Pearson lemma provides always
(a) an unbiased test (b) a most powerful test
(c) an admissible test (d) aminimax test

In an SRSWR from a population of 400 units, the finite population correction (fpc) is 0.75,
then the sample size is
(@ 50 (b) 60 (c) 75 (d) 100

In the context of stratified sampling which of the following is correct ?

() The units within each stratum are homogeneous as far as possible.

(I) The strata variances should be kept equal.

(a) Only (D) (b) Only (I) (¢) Both (I)and (II) (d) Neither (I) nor (II)

Suppose a systematic sample of size 4 is to be selected from a population of size 20. If the
first random number drawn is 4, then the sample will consist of the units
(@ 4,9,14,19 (b) 4,5,6,7 (¢c) 4,9,15,20 (d) 4,8,12,16

If there is linear trend present in the population, then which of the following methods is the
most efficient sampling technique ?
(a) Cluster sampling (b) Systematic sampling
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97.

98.

99.

100.

101.

102.

103.

104.
ROS

(c) Stratified sampling (d) Simple random sampling

The total number of samples under SRSWOR of size 2 from a population of five units will
be

(@) 15 ) 10 (c) 125 @ 100

7T fop fer T 3fehe ATET 100 3T YE01 25 & Ay sied WM sed A feu @ & | a0 g
o &1 Tl o |ET 95% 3ATehs 3T 2

(a) 85-115 (b) 75-125 (©) 95-105 d 90-110

T ATgIogeh Ffaes N(u, 02) & e T 8 | & g1 w 3R o2 319d & | 1 aftepen st s
feu :

H, :p=100, 6% =25

H,: =100

H,:p>100, 6% =25

ﬁ?ﬂﬁﬁa@ﬁ

(a) | H,, H, 3 H, 9% Teheam i € |

(b) & H,, H, 3 H, §e TRehea e 7 |

(c) H,dH, &, o H, 54 aiehea 2 |

(d) H, & foheg H, q H, 9 THhe 1 8 |

THTHT 524 N(O, 1) H 62 o1 =ITdH T8 SR STheish &

@ X-1 b Ly © X @ FHARET
9 forrcee s 2R &t 2

(a) T IFRMT ghem (b)  IRAH T

(c) TR wlierur (d) ITUHTEs ghem

400 gepTeT aTett TEMY | | weh ey afga Argfoss Sfaeem gra fiest ==m o, afe uftfia
guts GMe 0.75 &, 1 Ifdest o1 ST 2
(@ 50 (b) 60 ) 75 d 100

i SR S o G e d a e aa R ¢

D) T ave g g I TR § guTil 3hieal Bl 2 |

(1) & S TET oh] S W@ 2 |

() e (D) (b) e (1) © QA @MIAA) (d) T (DI ()

maﬁqﬁﬁmuﬁmﬁﬁﬁm4m%®mwwzomaﬁmé
H1 2 | Ffe Telt I TS Agfeses g 4 ], @ wfaest o gehrgat g

(@ 4,9,14,19 (b)) 4,5,6,7 c© 4,9,15,20 d 4,8,12,16
Ife gufy 1 Waes syafa g1, @ =F @ ufaaaa fafy gaifes < @nft 2
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56.

57.

58.

59.

60.

61.

(a) TS Sidaa (b) shHSg Tfd=EA

(c) ¥R Igfemeh Fid=a (d) A AgsH Tl
SRSWOR o JI=Td 5 SHTSAT hl Tsh FHIE T 2 HATHTY & fereart hl Fol Tt grft
(a) 15 (b) 10 (c) 125 (d 100

When the size of cluster decreases, the efficiency of the cluster sampling over simple
random sampling

(a) decreases (b) increases

(c) remains unchanged (d) Information is insufficient.

If the variances of the sample mean in SRS with and without replacement are V wr) and

V(WOR)

v respectively ande is e =
(WOR) V(WR)

then the value of e is

N N-1 N-n N
@ N_q (b) N-n © N_1 (d) N_1
. e — .. N
The variance of the stratified sample mean (y ) is, for W = 1\;‘ :
@ 3[L-L1|w2s? b x| - |wzs?
N, n, n, R
1 1 2
© X|—-—|W,S; (d) None of these
nn Nn

Under simple random sampling without replacement, if the ratio estimator of the

population mean (?) be Yg =;i, then E(?R) is
X

(a) ?+cov(§,;‘cj (b) Y +cov(y,x)
X
() Y-cov(y,Xx) (d) ?—cov(i,;‘cj
X

When the population consists of heterogeneity, which sampling procedure is preferred ?
(a)  Stratified Random Sampling (b) Simple Random Sampling
(c) Systematic Sampling (d) Double Sampling

Which of the following sampling technique is preferred when population units are
numbered and arranged in order ?

(a) Simple Random Sampling (b) Stratified Sampling

(c) Systematic Sampling (d) Sequential Sampling
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106.

107.

108.

109.

110.

111.

ROS

The ratio estimator of population mean is more efficient than the estimator of population
mean based on simple random sampling without replacement when the correlation
between X and Y is

l CY l l l Cx
(a < 2 C_x (b)y > 2 () < 2 @ > 2 C_y

TS T[S o 3TTHTY A BT & A1 1o fc=ra hl g&rdT, B ATgroseh Yiaaa i gorT |
() FAFMRI (b)) AR | (© frwhzl (@ yEIEETER

afe gfqemed fed am gfeeemes died o agfess giaeem 8 a0 HmE: Vg, T

v
‘ WOR
Voo, 8l 3 e =< > ad e B

Vowr)

N N-1 N - N
@ N ®  N"n ©) N—Ill @ N1
@ﬁf{ﬁuﬁaﬁmw@m)aﬂwsﬁm%,wﬁwnz%%:
szm%W% @ZFm%Wﬁ

Nn nn nn n
() Z(L—Ij]wnsﬁ (d) IHIEH A HIE Tl

1’11'1 n
qﬁwmr%auﬁamﬁrﬁqﬁ,aﬁmmw(?)WWW?RzgiﬁaﬁE(?R)

X

Bl 2

(a) ?+cov(§ )_cj () Y +cov(y,X)
X
() Y-cov(y,x) (d) ?—cov(z,fj
X

e gty | fafayar gidt @ @ i @ sfaeee fafer s v ferar sman 2 2
(a) NG Ao == (b) T Ak Tfemram
(c) oHafRE uftere (d) <rat wfoerA
e o 9 B @ vioere oty w1 stmm fean Srar @ St ewiy sereat sifeea iR e §
ARG &l ?
(a) T AgFs® Afd==mA (b) Tfa g
(c) =Fafea wha=—A (d)  ITehiten Sferram
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63.

64.

65.

66.

67.

68.

69.

¥ 31fereh 281 B 7, ST9 X 3R Y o1 Sgma Tonih 2

l Cy l l l Cx
(a) < 2 C_x (b) > 2 (C) < 2 (d) > 2 C_y
In simple random sampling without replacement, the variance of an unbiased estimate of

population proportion is given by

n N n 1
(a) (I_EJEP(I_P) (b) (I_EJEP(I_P)
n P({-P) _n n _
© N-1 (N-n) @ (1 Nj(n—l)P(1 P)

In which of the following designs, one can make the maximum use of the experimental
units ?

(a) Completely randomized design (b) Randomized block design

(c) Latin square design (d) Balanced incomplete block design

What will be the error degrees of freedom in case of two missing observations in a
randomized block design ?

(@ @-D@-1)-1 b)) @-2)t-2)-1
(¢ @-D-1D-2 (d @-1(t-3)
In a randomized block design, the local control is used in k directions where k is
@ 0 (b) 1 (© 2 (d 3
Which of the following is not a basic principle of experimental design ?
(a) Randomization (b) Confounding
(¢) Local control (d) Replication
The following layout :
Blocks

A|C|A|B

C|B|C|D

B|A|/D|A

D D|B|C
Is related to
(a) Completely randomized design (b) Randomized block design
(c) Latin square design (d) None of these

In a Latin square design, the degrees of freedom associated with the error sum of squares is
12, then the degrees of freedom associated with the row and column sum of squares are
respectively :
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114.

115.

116.

117.
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119.
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(@) (4.4 (b 45) © (5,5) (d 43)

A 23 factorial design is arranged in 2 blocks. If the principal block contains treatment
combinations, (1), ¢, ab, abc

Then the confounded interaction is

(a) AB (b) AC () BC (d ABC
et fereerm tfga ufeerm fafer o wmfy smuTa o smfima steeres 1 e fean ST 2
n N n 1
(a) (I—EJEP(I—P) (b) (l_ﬁj(n—l)P(l_P)
n P(1-P) n n
© N1 N-w @ [l_ﬁj(n—l)P(l_P)
=1 1 @ i i SAfirenea § TR SeRTSal 1 TRIehdd IUINT R ST Hehd B 7
(a) ot agfe® Afrmer (b) A @Ug FHMFheTT
(c) e =l sAf¥reheae (d) wfra 31gd wve FAREeE
g Wue JfieheaaT § Ffe 1 Tdadt Hife w1 arft afe gt Sarr 37vme &
(@ @C-D-D-1 b)) -2)(t-2)-1
¢ @-D@-1H-2 d @c-1)(-3)
g @Ue JTfeheaT H T fRrmwr k feemati § Sk gia1 7, @t k 31 74 g
(@) 0 ®b) 1 @ 2 @ 3
fore 5 & =i T s stfrepene w6t e fagra A @ o
(a) TGSHR (b) TR ) ®WHEfEET  (d) TREN
= @ et
TUg
A|C|A|B
cC|B|C|D
B|A|[D|A
D|/D|B|C
g 8
(a) quicRn ATgfosehishd STTehedT & (b) WTGf=eehichd @UEH JTReTT &
(c) AfeT =t AfpeaT & (d) 3UUH T fopeft @ oft 7

T Afeq ot rfieheunt § Jfe ot A <l odadr wife 12 & o ufe 3R T 9 a4
mﬁ%wﬁwaﬁ%m:%:
@ @4 b 453 © 5,5 d &3)
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120. T 23 e IANheuHT i 2 el § W@l T 7 | IS J&T TS o IU=R HAIeH

(1), c, ab, abc
&1, A Hehld S=A=ATshaT 2
(a) AB (b) AC (c) BC (d ABC

71. In the following analysis of variance table :

Source of variation |d.f. |S.S. | Test Statistic
Treatment 2 0.23 F(z, 9) =

Error 9 X

Total 11 4.93
The value of F, g upto two decimal places will be
(@ 0.05 (b) 0.20 (c) 0.22 (d) 0.25

72. For a stratified sampling, it is given that
N, [S,

StratumI |08N | 2
StratumIl |02N | 4
Under optimum allocation of a sample of size 15 the number of units from each strata are

respectively :

@ (6,9 (®) (9,6) © &7 (d (10,5)
73. In an 23 factorial design the main contrast A can be expressed as

(a) abc—-bc+ab+ac-b-c+a-1 (b) abc+bc—-ab-ac+b+c—-a+1

(c) abc+bc+ab+ac—-b-c—-a-1 (d abc—-bc—-ab-ac+a+b+c-1

74. The efficiency (E) of balanced incomplete block design with respect of randomized block
design is

@ E=21 (b) E>1 (c) E<1 d Ex<l1

75. In a factorial experiment with complete confounding
(a) Information on some effects and interactions are lost completely.
(b) Information on some effects and interactions are lost partially.
(¢) Information on all effects and interactions are lost completely.
(d) Information on all effects and interactions are lost partially.

76. Let X be a p X 1 vector having non-singular p-variate normal distribution Np(g, ),
2 is non-singular matrix, then the distribution of (X — )’ >l X - is

(a) univariate normal (b) p-variate normal
(c) F-distribution (d) Chi-square distribution
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121.

122.

123.

124.

125.

126.

ROS

If X'is a p X 1 vector having a p-variate normal distribution Np(u, 2) Let Y = AX where A

is a ¢ X p non-singular matrix. Then the distribution of Y is

@ N (A, AXA) (b) N (Ap, AXA)
© N, (Ap, A2A) (d N (A, AYA)
Tt s forgerses anfetent @
TEOTHG | @R i | atan | gl gfaeets
ITER 2 0.23 Fy g =

gﬁ 9 X

5 11 4.93
F . o, 1 CIHCTE o <1 T deh WM 8Tl
(@) 0.05 (b) 0.20 © 022 d 0.25
Teh Wi fd=ae | fean man @

Nl'l S1'1

W1 08N | 2
Tl |[02N | 4

gwﬁﬁw%mlsw%uﬁaﬁﬁaﬁwﬁﬁaﬁwmﬁmm:
(@ (6,9 (b) (9,6) © @7 (d 10,5)

T 23 Heh ATeheuAT § g fauia A ot fefafad @ s s aehd 8

(a) abc—bc+ab+ac—-b-c+a-1 (b) abc+bc—-ab—-ac+b+c—-a+1
(c) abc+bc+ab+ac—-b-c—-a-1 (d abc—-bc—-ab-ac+a+b+c-1
Agfemehiha GUE IR & ATUE Hgford STeR WUg TehedHT hi &dl (E) & :
(@ E>1 b) E>1 () E<I d E<I
TUT TRTUT o | Teh &g SUTGHT JINT |

(a) S IIE 9 =N I FEAT qUla: T B AT 2 |
(b) S IUTE 9 A H AT SHTMMh €Y & TUTH B 1Al 2 |
(c) ft wuTEl g 3T ST AT quid: FHTH B AT # |
(d) |t SwTET 3T T AT ST ®9 | FHIE & S @ |

AT 56 X T p x | few 7, foraeht s p — =l 5@ N (u, X) ¥ U FohHuia g
21 (X -y T (X - ) HI e B

(a) T = TEmH (b) p-=0T THH

(c) FeA (d) TS T A
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127. 3 X T p x 1 Gfew & fSr@eht st p-siig @ N (u, ) 2 | 7H1 {6 Y = AX, 5&f A T

78.

79.

80.

81.

82.

83.

q X p SICHRHVIE HTSTE 2 | Tl Y i 6

@ NyA AZA) (b) N (Ag, AXA)
© N, (Ap, AZA) () NyAu, A2A)
Let X ~ N, (4, ), where
X 5 2 010
Xy 6 0 3 20
X = u=|_1, X=
~ X3 & 7 1 2 40
X4 8 00 0 9
Then the distribution of (X - X,) is :
(@ N(@G,11) (b) N (3,85)
(c) N@3,11 (d) Cannot be determined.
The Wishart distribution is a multivariate generalization of
(a) Normal distribution (b) t—distribution
(¢)  Chi-square distribution (d) F-distribution

When a random sample of size N is drawn from Np (W, ), the distribution of sample mean X is

1 1 1
@ N(wyTe) ® N [(Feyy
1
(© N, (g,ﬁz) @ N,

_Q
Let the pdf of a bivariate normal distribution be f(x, y) =K e 2 where
Q =x% +2y? —xy — 3x— 2y + 4, then the mean of X and Y are respectively

@ (1,1 () (1,2) © (2,2 d @D
Let X ~ Np (1, 2) ; pand X being unknown. For testing H, : W = W, against H, : p# p,,

the test statistic used is
(@) Chi-square (b) Student’st (c) Mahalanobis D? (d) Hotelling’s T2

Let x follows multivariate normal distribution Np (W, o), where
1 23 , )
U= A= then E (X" A X) is
3 3 4 ~ ~

(a) 56-60° (b) 56 + 602 (c) 56-02 (d 56+0?
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128.

129.

130.

131.

132.

133.

ROS

xl 3 2 —1 —3
If X= {xz} follows N; (W, 2.) where 1= {O} and Z: {—1 3 5 | then the marginal

X3 2 -3 5 5
distribution of X, and X, is bivariate normal with mean vector and var-cov matrix.
3 2 3 2 2 -3
(a) u={J,Z={3 4 (b) u=[J,Z={3 5}
3 2 -3 2 2 -3
IS
a6 X ~ N, (, X) B &
x| 5 2 010
RES B 6 _ 0 3 20
>~<_x3’L~L_7Z_1240
X4 8 0 0 0 9
WX, -X,) HITRAR:
(@ N@3,11) (b) N (3, 85)
() N(=3,11) @) Tl 72 foman < T |
ferrie sie, Sger SRR
(a) SETH & (b) -5
(c) TS o &I (d) F-§eA 0

WNWW@WWNP (W, >) & fora Sran & a1 ferest arew X <61 faawor g
H

1 1 1

@ N, (H’sz ®) N, (ﬁwz)
1
© N(wy @ N,
_Q

AT {3 Ueh fg=k T e HTALE.E. f(x, y) = Ke 2 8, T&l
Q=x2+2y2—xy—3x—2y+4%I?ﬁX?:ﬁ'{Ya;qT%’JEﬁqQT:%
(@ (1,1 ) (1,2) © (2,2 d @1
ﬂmﬁ}~(~Np(g,Z)Wﬁg3ﬁIZ?ﬁTﬁ§IHO:E=QOWqﬁWHI:E¢EO%ﬁQﬂHW
& wlieror gferesfst ek 2T 2
(a) TS (b) It (c) WHEMIE D2 (d) @refe T2

T x g THHR 92 N, (1, 621) % T 2 ST
b= m HE E ﬂtﬁ,?ﬁE(Z{’AX)%

63 Series-A



134.

8s.

86.

87.

88.

89.

90.

(a) 56— 602 (b) 56 + 662 (c) 56-c2 (d 56 +0c?

X 3 2 -1 -3
A X = |x, [FIAN, (L, D)8, T u={0| M L=|-1 3 5|8 179X,3WX,
X 2 -3 5 5
1 IUT S Tga THH ST STEeh! ATET Ffeer 3T ST TEseol STeg &
3 2 3 2] 2 -3
@) “{2]2{3 5} (b) “{3’2{3 5}
3 2 -3 2] 2 -3
(©) u=u,2={_3 5} (d) u=L,Z={_3 5}

Let (X, Y) follows bivariate normal distribution BN (4, 2, 16, 25, 3/5), then the conditional
mean of Y given X =8 is

(@ 5 (b)y 4 (c) 2 (d) 8/25
If the regression lines be given by
3x—4y+8=0
4x-3y-1=0
Then the means x and y are respectively
(@ (43 d .4 © G4 d 45)
The distance between two populations means may be measured using :
(a) Mahalanobis D2 (b) Wishart distribution
(c) Multivariate normal distribution (d) Analysis of covariance

The characteristic function of multivariate normal distribution N, (i, 2) is given by
(@ expli t’g +t72t] (b) expli t'u —t'2t]

(c) expli t’g—%t’Zt] (d) exp 1tu+ tZt

The relationship between Mahalanobis D? and Hotelling’s T2 for two samples of sizes N,
and N, drawn from two p-variate normal populations with same var-cov matrix and
different mean vectors, is

N
2 2 2_ 1o
(a) D_M+MT (b) D_MT
(c) DZ—EJ—I—_F—HQT2 (d D*=T?
N1N2

For two lines of regression
3x+5y=8
2x+ 5y =1,
The correlation between X and Y is given by
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92.

93.

135.

136.

137.

138.

139.

140.

ROS

(a)

W[

2 2 2
(b) -3 (©) \[g (d) —\[g

With usual notations, if X=5, Y=7, ryy = 040, 6y = 2 and oy = 3, the regression

equation of Y on X is given by :
(@ X=06+4Y (b) Y=4+0.6X (c) X=565+027Y(d) Y=565+027X

The range of a regression coefficient is

(@) —ooto+e (b)) Oto+1 (c) —-1to+1 (d Oto+ oo
The unexplained variation in a multiple linear regression may be measured using

R? N-p R? ) 1 —R?
(a) 1— R2 (b) p- 1 1 - R2 (C) I1-R (d) R2

W%%(%(,Y)ETWWWBN@,Z, 16, 25,3/5) 8 | @1 Y 1 GUfdsy ALY S€fh
X=8%,

(@ 5 (b) 4 ) 2 (d) 8725
T T @ Ife
3x—4y+8=0
4x-3y—-1=0
g, AW X9y HAA: BN
(a) 4,3) (b) (5.4 © G4 d 4,5)
<1 FHISAT o 1A o Hed < gl ol ATHT 11 Hehdl @ :
(a) WETAHISE D2 g (b) FemTea
(c) TEI YEH §eH & (d) T T fageiwor g
T FEI T2 N, (11, ) T SAFerero ot feam s 2
(@) expli t’E+t’Zt] (b) expli t'p,—t'Zt]
(c) expli t’tt—%t'Zt] (d) exp 1tp,+ tZt

TRTAMIfE D2 BRIeH T2 % A& §aY, Jafh N, 3R N, AT % g Jiies af p-=aia
THTHT 2T 5o T HEYETvT STE T foheg ATET AiH 3190 &, | o™ T 8, g

2 N, 2 2 N, 2
(@ D :N1+N2T (b) D :NzT
N1+N2
(©) DZ:Wﬁ (d D2=T2
gfe g W@
3x+5y=28
2x+5y=17

B, @ X 3R Y o He Tgaws=4 TUTieh 8T
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141.

142.

143.

9.

9s.

96.

97.

98.

99.

W[

2 2 2
(a) b)) -3 (c) \[g (d) —\[g
AT Fehell o HIY A6 X=5, Y=7,14y, =040 0, =2 3R 6, =3 &, A Y WX H

T Geiehto @
(@) X=06+4Y (b) Y=4+06X () X=565+027Y() Y=5.65+027X

Teh SO TUTTeh o1 T a1 3
(a) —owoH+o0 (b) 0F+1 © -18+1 d 0¥ +oo
g YA fereerso § Sreqsieha fisen sl e § Ao <71 |ehet 8

R? N - R2 5 1 —R2
@ T-w ® ST © I-R @ 3
For estimation of parameters in multiple linear regression model.

Yox1 = xnxp l3p><l Uk
Which of the following assumptions are correct ?
(I)  The matrix X is a full column rank matrix.
(II) The matrix X is stochastic.

(III) E(u)=0, V(u) = 6’1

(a) Only (I) and (II) (b) Only (I) and (IIT)
(¢) Only (IT) and (IIT) (d) All (), (IT) and (IIT)
The characteristic function of Wishart distribution W (2, n) is given by
(@) &O)=II-2ixer "2 (b)  &(O) =I1-2iyeI?
()  &O)=II+2iX6I-"2 (d) ¢®)=I-ixrerm?
Let X ~ Np (U, X)) be partitioned into two sub-vectors of order q and p-q respectively as
x0T gx1 X1 22| 4 N |
X = also let 2, = |Y, Y, |p—q then the conditional variance
X® |p-gx1
9 P—9
v (XD/x® =X ) is given by
-1 -1
@) 2pp =29 211 25 () 2y —2pp 21 2y
—1 -1
© 2y =29 22 25 @) 2y -2 2 2y
The regression coefficient is independent of the change of
(a)  Scale only (b)  Origin only
(c) Both scale and origin (d) Neither scale nor origin
The distribution of Hotelling’s T? is :
(@) Chi-square (b) Normal (¢c) F (d) Student’st

All A12

LetA~W(Z,n)andletA={
21 A22

} then read the following and choose the option

with correct answer :
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100.

101.

144.

14S.

146.

147.

148.

149.

ROS

(D The distribution of A, is Wishart.

(I) The distribution of HAH” is W(H2. H, n) where H is non-singular.
(a)  Only (I) holds (b)  Only (II) holds
(c) Both (I) and (II) hold (d) Neither (I) nor (II) holds

The ratio of the determinant of the error sums of squares and cross product matrix and the
determinant of the total sum of squares and cross product matrix in multivariate analysis of
variance is called

(a) F-statistic (b) Wilk’s Lambda
(c) Hotelling’s statistic (d) None of these
Order statistics are mainly used in :

(a) Time series analysis (b) Parametric tests
(c) Non-parametric tests (d) Index numbers
TEEHTSA TS

Ynx1 = xnxp Bp><l T Ul
T YTl & 3Tehetd o ford fr 5 @ s & sraramomd 98t @ 7
(D ITE X T 0 & ife TR 2 |
(II) 3T X TEITA R |
(IIl) E(u) =0, V(u) =621

(a) I (D) (ID) (b) whaa (1) T (110)
(c) had (I) = (III) @ @t (D), A = 71
fomé e W (2, n) o1 SARYeTeqor Ser fean Srar 2
(a)  0(0) =II-2iy6 2% gr (b)  &(0) =I1-2iX0I"2 F g
(©)  0(0)=II+2iX0 V2% g @) 0O)=I1-iXer 2% g
ar {6 X ~ N (, X) q 3R p-q I & Sy@fesi 4 g6 yobr fowrfora fopam 2 o
21 22| 4
) .
X= X a1 R 6 X = {221 szp—q%mﬂuﬁﬁrﬁmw
x@ |p-gx1
q p-q
v [xOx@ =x@ ) g
@ Tp-3, i, (b) Ty -3, 211 Ty
© -2 3In3;, @ Zy-ZpInl,
THTSI TUTTh T ufga & Taas g @
(a) oheel AU F (b) W%ﬁ%@
(©) 'aﬁnm.a%%@ﬁ (d) AR HEHAT A g
BefAT T2 T ST BT 8 :
(a) IS (b) TEHET (c) F d) Tt
W%A~W(Z,n)3ﬁIWA:{A“ Alﬂ%q"l%%@gqasaﬁaﬁtr%qaﬂwﬁw%
21 22
Teh forehed ol g4
67 Series-A



150.

151.

102.

103.

104.

10S.

106.

107.

108.

109.

(D A, HIA fomie 8
(I) HAH’ 1§ W(H'SH, n) 8 5T&f H okl 2 |

@ faEmaEdz (b) fakanadiz|

() T (DI ) T | ) AROAR AN FTRE |

Fga JE faverwor # e vt A 9 qEE % ARt 3T Ha 9 A IR U %
TRITeh o 3TUTA ! Had &

(a) Fidesist (b) fercera S

(c) et afdesis (d) 39U H B hIS TE

30 Sfdeeie ETd: $TH T 8ld ©

(a) Tt 9ot forgeiwor (b)  Sreifereh wliern

(c) 3ITUTEIfeteh qHieor (d) HIhIh

If n; and n, in Mann-Whitney test are large, then the variable U is distributed with mean
(@ (n; +n,)/2 (b) (n;—n,)/2 (¢) nyn,/2 (d n;/n,

The distribution of test statistic used in sign test is

(a) Normal (b) Poisson (¢) Gamma (d) Binomial
In the following X Y Y X Y X X, the number of runs is :

(a 3 (b)) 4 () 5 d 6

Let :

X:10,12,7

Y:5,13,9,15

then the value of Mann-Whiteney Wilcoxon statistic is

(@ 7 (b) 75 (c) 8 d 9

The distribution of test statistic used in median test is

(a) Binomial (b) Normal (c) t—test (d) Chi - square
The non-parametric equivalent of one way analysis of variance is :

(a) Friedman test (b) Kruskal Wallis test

(c) Cochran test (d) Chi-square test

Mann-Whiteney Wilcoxon test is used to test the :

(a) randomness of the set of observations

(b) the assigned value of a population mean

(c) difference between two population medians
(d) none of these

In Mid-Zuno sampling scheme, the value of (T, - nij) is always
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110.

111.

152.

153.

154.

15S.

156.

157.

158.

ROS

(a <0 (b) >0 (c) =0 d =05

n -1
If X has F-distribution with (n;, n,) degrees of freedom, then the statistic {1 +H—IX}

follows
(a) F —distribution (b) t— distribution (c¢) Beta distribution (d) None of these

o . . . . 13 -
Suppose we are estimating population variance using the estimator S? = 0 2 (- x)2, then
i=1

which of the following is true for S ?

(a) It is unbiased and consistent. (b) It is unbiased and sufficient.
(c) It is sufficient and consistent. (d) None of the above

fe #-fegeft vl © n, 3R n, Ig & q1 = U 01 @ Topd #1ea o A1 sifed & -
(@ (n;+n,)/2 (b)  (n;—n,)/2 (©) n;n,/2 (d n;/n,
ferg wleror o wdieror gfeestst w1 e gar g

(a) TEE (b) w@TET (c) T d) feue
FERXYYXYXXHH 6 geane:

(@ 3 (b) 4 © 5 d 6
EIEIRC

X:10, 12,7

Y:5,13,9, 15

7, @ o -fagefi-foctepiam gftesst w1 oM 2

(@ 7 ) 75 (c) 8 (d 9
Hrfeyert ahierer § qlieror afeesist o1 sied BT 8

@) famq (b) SEH (©) t-A (d) HEa
T T TIeeryor 1 sTr=fersh 9HH 2:

(a) RISSHA Tdiero (b) FHEhe dferd wiegur

(c) I TIeTor (d) hTs o wieror

-l Terctepterem qdieror, wieror s & for glaT 2
(a) TR < TG BT AGOSHIHWT  (b)  HHIY WL T G g HH
() TIEHPAMRIBT FhAF R AR (d) 0 T i T8
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159.

160.

161.

112.

113.

114.

115.

116.

117.

118.

forg SEt wifcrerer < a1=id (m; 7, — ;) BT W EH BT @
(@) <O b >0 © =0 d =05

-1
afaxmaap,(nl,nz)w@ﬁama%aﬁm{l%x} 1 5 B
2
(a) F-v&d (b) t-¥A (c) ersied (d) 3 | B3 T

w@w%waﬂmszzii (x, — x) 3ThcTsh § W R & | T H | = &
i=1

3Tehaieh 2 TR g 2 2
(a) IE FANHT IR TR | (b) I IENFAT IR IAH L |
(c) IETIHIARTEE | (d) 39U T Y HIS ALl |
For testing the hypothesis H,, : 6,2 = 6 for the following data :
. Standard

Sample Size Deviation

A 16 3.2

B 10 4.8
The value of F statistic must be
(a) 044 (b) 0.67 (c) 1.50 d 2.25

Which of the following statements are correct for non-parametric tests ?

L The samples should be drawn from normal population.

II.  The non-parametric tests are less powerful than the parametric tests if the underlying
assumptions of parametric tests are satisfied.

(@) Onlyl (b) Only II (c) BothIandII (d) Neither I nor II
The variance of the random component of a time series is determined by

(a) Link Relative Method (b) Moving Average Method

(c) Periodogram Analysis (d) Variate Difference Method

Seasonal variations in a time series are computed using

(a) Ratio to trend method (b) Method of least squares

(c) Method of moving averages (d) Periodogram analysis

Which of the following is not a method of measuring trend in time series data ?
(a) Method of semi averages (b) Method of growth curves
(¢) Link relative method (d) Moving average method

Correlation in the successive error terms in a time series data is known as
(a) Rank correlation (b) Autocorrelation

(c) Intra-class correlation (d) Bi-serial correlation

Seasonal variations are caused by
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(a) Climate, customs and traditions (b)  Growth of population
(c) Business cycles (d) Technological improvement

119. The component of time series attached to long term variations is termed as
(a) Seasonal variation (b) Cyclical variation
(¢) Secular trend (d) TIrregular variation

120. The trend equation of a time series data for the years 2007-2016 is given by y, =2 -t + t2

What is the forecast value for the year 2017 ?
(@ 74 (b)y 92 (c) 102 d 112

121. Consider the following AR(1) model with the disturbances (U,) in the model having mean
zero and variance unity Y, =0.2 + 0.4y, _, + U, The unconditional mean of Y will be given by
(@) 0.20 (b) 2.00 (c) 0.46 (d 0.33

162. T T W& H,) : 6,2 = 6,2 % forl T sffepe fd i 8

yed | o™ | W feen

A 16 3.2
B 10 4.8
F yfcrestst &1 9 g1 =mied
(a) 0.44 (b) 0.67 © 150 d 225

163. /=1 4 9 &1 91 % srarEferes wdemn & fR g g 2
L fdes s =99 TEH= 9 ¥ BH1 91ty |
. STafere qdewr 6t o § Trafores Ter s SkwIre 8id 8 | Afg Jraferss e

i gt STEUomd o e & |

(a) hadl (b) HaAII (c) TFIISRII (d JAITE
164. Tt 2oft & Argfoseh Tesh & Jawor i fe faftr & sma e €

(a) JaEfea mufess fafy (b) i wed fafy

(c)  3Arafciar afsh ferfer (d) ferertiam forfs
165. HTet 2t B S Il 1 qiehetd foha Smar 8

(a) 3TN ¥ FAIITa faf g (b) =Aqu ot fafer gra

(c) Trfemm Ared fofer gra (d) mafdar o=k fafer gra
166. 1 5 9 & A1 11 A0l S[@AT < STl 1 TG shi TUHT T&T et ?

(a) oTed we fafy (b) HIfg =k fafy

(c) sJafea amfess fafy (d) i e fafy
167. T et At 3TTehel | FfE o Fhiteh UGl o HEHTE hl had &

(a) HIfe TgamY (b) T HE Y

(c) 3d: Il gy (d) Tz orofira agaraeg
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168.

169.

170.

171.

122,

123.

124.

125.

126.

127.

Hiere it €N o BT E

(a) STETY, TUT T T (b) SHEE NG

(c) SR =% (d) Teheishl U

Tt i) o1 et 3Taf o fomre &1 g2 Shgdrdan 3

() WEfifraem b) wHRfmem () WA (d) g faaeH
el AR HTehS] W HATHTNG Il a5h W 2007 - 2016 TRl y, =2 — t + 2| fean S & |
a9 2017 % ford qatgmia = <o g 2

(a) 74 b) 92 () 102 @ 112

e T AR(1) 37TeRt # fqeqy (U) 1 71ed S STR 60 3967 §
Y, =02+04y,_,+U,
Y =1 Jrufaafera med feam sram
(a) 020 gA  (b) 2.00% gRI (c) 0.46% gr (d) 0.33%gA
A time series is given for the years 2000-2015 by the equation y, = 3 + 3t — t2. What will

be the equation if the origin is shifted to the year 2002 ?
(@ S—-t—t? (b) -3-3t-t () -S+t—t? (d -3+3t-t2

Identify the component of time series in “Increase in prices of vegetables due to floods”.
(a)  Secular trend (b) Seasonal component
(c) Cyclical component (d) TIrregular component

Which of the following non-parametric test is considered as the best non-parametric test of
location ?

(a) Sign Test (b) Mann-Whiteney Wilcoxon U - test

(c) Wilcoxon signed Rank Test (d) Median Test

1 1
If X and Y are two independently distributed exponential variates having mean 1 andg

respectively. Find E(Z) where Z = min (X, Y)
1 10 1 24
@ 3 (b) 54 © 70 @ 70

Which among the following is a type of control chart for variables ?

(a) C —chart (b) X —chart (c) p—chart (d) d-chart

If F(.) is the distribution function of the failure time X of a unit, then the reliability of the
unit at time t is given by

(@)  Fx(® (b)) 1+Fy(®
() 1-Fx(® (d) Information is insufficient.
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128.

129.

130.

172.

173.

174.

175.

176.

177.

ROS

With usual notations, the hazard rate h(t), the density function f(t) and the distribution
function F(t) may be related as

fi fi F O _
(a) h(t)=% (b) h(t)=%2(t) (©) h(t)=%) (d) h<t>=1-(2<o

Three components each with reliability 0.9 of each system are placed in a series. The
reliability of complete system is

(a) 0.001 (b) 0.999 (c) 0.271 (d 0.729

What is the reliability of a device at t = 4 whose hazard rate is given by

0 ; t<O
A O<t<2
h(t) = M2, 2<t<5
A t>5
@ (b) e 20% (©) o (d) None of these

2000 - 2015 % Hihgi o 13 Th et 20l y, =3 + 3t — 2 & & ST & | Tk 1 HHiH01 A1
B AfE e fareg 2002 W e e fea s 2
() 5-t—t? (b) -3-3t-t2 (c) -5+t—t? (d -3+3t-t2

T Uil o 37T bl UgATY “HfeSAT o el H o1 o hRT IBTA”

(a) 3I9Afd (b) TG T (c) Ish 3raga (d) wTgfas Taua
=1 o B 19 T IruTeferes Tdietur, Taferd & AT Tores e U ad 309 T ST 8 2
(a) Tog wdeo (b) UM et faeTehigas U wdieqor

(c) Taoetes gz i g (d) wrferspt wieror

aﬁxaﬁIYawﬁanéﬁmmwm:ia%% | @ E(Z) T 9T 1 81T 7
Ife Z = min (X, Y)

1 10 1 24
@ 3 (b) 54 © 70 @ 70
fedasm o= =R faamr a2 2
(a) C-dT1 (b) X-=T () p-dT1 d d-=m

Ife F(-) Teh 3ohTE <1 fadhetdr @wa X <t foawor 2, a1 ¢ 999 W Sohte <hl forgareierar =1 fea
W%,ﬁﬁa%?;{m:

(@) Fx(@® (b) 1+Fyx(©® () I-Fx(@® (d) FENEEAR
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178.

179.

180.

131.

132.

133.

134.

135.

136.

137.

YT HehdTefl § Hehe € h(t), Tcd %eld f(t) 3T forator ®etd F(t) o TeT o Hey bl (7 &
frefoa fern Sran 2

fi i F f
(a) h(t)=% (b) h(t):#;)(t) (c) h(t):% (d) h(t)zl—(—;)(t)

STEAT H T §U T =i H § T4 i ogae=iar 0.9 8 | {01 SoTTeft i forvereiear &
(@) 0.001 (b) 0.999 (c) 0.271 (d 0.729

Teh YR 6 t = 4 T fagag-rarar = 2 Rreept gene wod f & g fean man 2

0 ; t<O
B ; O<t<?2
h(t) = A2 . 2<t<5
A t>5
@ 2 (b) e 20+ © 2 (d) FHHBE T

The reliability of a parallel system of n independent components, each with exponential
failure law with parameter A is

@ T+1-eM" (b) (1-eM)n (© T-(l—ety () (d-e™n

If the hazard rate of T is constant, then the failure law of T, where T is the time to failure, is
(a) Weibull (b) Exponential (¢) Gamma (d) Normal

Let a parallel system be composed of two identical units and the failure rate of each unit be
A =0.01. The mean time to system failure is given by
(a) 150 (b) 100 (c) 200 (d) 250

For a number of defects chart if the LCL = 4 and UCL = 28, then the average number of
defects per unit in the lot are

(a 16 (b) 20 (c) 32 d 28

For an infinite series generated by moving average of a random component with equal
weights, the correlogram between autocorrelation coefficient p, of order k, with length of

moving average m is given by

k k

(a) Pk=a ;k<m (b) Pk=1—g ;k<m
k

(c) pkza—l ; k>m (d) None of these

The purpose of statistical quality control is to devise statistical method for
(a) separating assignable causes from preventable causes.

(b) estimating assignable causes.

(c) estimating preventable causes.

(d) None of these

If L(p) is the OC function of lot quality p, then for p, < p < p,, which of the following is
correct ?
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138.

139.

140.

141.

181.

182.

183.

184.

185.

186.

187.

ROS

(@) L(py) <L(p) (b) L (py)>L(p)

() Lpy=L(p) (d) Information is insufficient.
Which of the following test is used to test the randomness of a data set ?

(a) Run Test (b) Sign Test

(c) Kolmogrov-Smirnov test (d) Mann-Whitney U

In a p-chart, if the LCL = 0.04, UCL = 0.76, then the sample size

(@ 15 (b)) 17 (c) 19 (d 27

The probability of rejecting a lot having P as the process average defectives is known as
(@) TypeIlerror (b) Consumer’srisk (c) Producer’srisk (d) None of these

A drilling machine bores holes with a mean diameter of 0.5230 and a standard deviation
0.0032 cm. The 2c limits for means of sample size 4 will be

(a) 0.5262 cm, 0.5198 cm (b) 0.6262 cm, 0.6161 cm

(¢) 0.6561 cm, 0.6060 cm (d) None of the above

n T FEE! a1l THHTR ehr <t faverfiar, tafes geieh o1 faherar fram, A g=er &
1Y TR &, BT

(@ 1+(1-eM (b) (1-eryn € I-(l-e™m @ @1-en
Ife T o1 Hehe o FRE I, &1 T 3% Bl doh 1 T0F &1, 1 T T STHBeAdT s BT
(a) o9 (b) =THTATHI (c) T (d) TEE

AT o6 T UM JOefl g THH SHISAT | S g3 8 ST Y I3 bl faherdr &
A =0.017 | STTeht 6t foeherar o1 wrex Tm ez Smm

(a) 150 (b) 100 (c) 200 d 250

Ffe " & T d@fes o e fremor € = 4, 3uft e g = 28, 9 ogg ° ufa s
e FfeAi 61 T B

@ 16 (b) 20 © 32 d 28

TS AR HI TEH T8GRI Agfossh 3a3d 6l Th AR @l o o, Sife k &
TEEFEY p, 1 HEHEY T3 T8I m TITH L <6l TS &, fearm s 8

k k
@ pe=7, k<m b p=1-, ;k<m

© p=m-1 ik>m (&) Iw &

Tifereht Turar freeror < 3ev Uk W Hifeashia faftr s snfashr e 2 fma
(a) Tftg wrept 3R U St i 3T T & |

(b) U SRl w1 3TTREH T |

(c) Taftrg Hepi &1 3TTeheta B Th |

(d) UG U BIE T |
e L(p) THE TUTT p 1 ST % &, A p, < p < p, b (18 HH HH i A E&E1 8 ?
(@ L(py <L (py) () L(py>L(p))
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188.

189.

190.

191.

142.

143.

144.

14S.

146.

147.

© Lpy=L(p) (d) FE HATAHER |
=1 o @ o o1 Tievn, Ueh STThSi o TYg I ATgFeehdl ol TR Shidl & 2

(a) T et (b) Tom e

(c) hlene foE Tdeqo (d) "R U

e p-Giea 1, af e Frsor war = 0.04 an 3uit fesor g = 0.76 a1 widest 1 @ 2
(@) 15 (b) 17 () 19 @ 27

s =, formd p fafer sitea Ffeqel B, 39 3riehr e <hi WTRehar saatd! 8

(a) Tgfa FpR i e (b) SUNITHI T SREw

(c) 3cITEeh I SRGH (d) 3T H T HIS A&

B¢ B dTeil Teh A 0.5230 T & 38 =@ 37 0.0032 T 07T fome @ B¢ & g,
ql 4 3T o Tfcest o 71ed o fold 26 37eR 9 3R fer T gt

(a) 0.5262 38, 0.5198 Tft (b) 0.6262 T, 0.6161 T

(¢) 0.6561 &Y, 0.6060 T (d) ST T I HiS T&l

A lot of size N having fraction defective p is to be inspected by a single sampling plan of
size n and OC function P,. The expression for the average total inspection of the plan is

(@ NP, +n(1-P) (b) nP,+N(1-P)
(0 (N-1)P,+nP, (d (N-DHP,+n(1-P)
In usual notations, which of the following relation in BIBD is correct ?
(a) vr=bk b) A(m-D=rk-1)
(c) b>v (d) All of the above
Let x;, X, ...., X be independently and identically distributed N(0, 1) random variables.
98 100
The correlation between >, X, and Y, X is equal to
i =1 1 = 3
96 98
@ 0 b 1 © 5% @ Tog

1
Let x; and x, be a sample of size 2 from N(0, 1), then the distribution of 5 (x,— xz)2 is

(a) tz(z) (b) Xz(l) () Xz(z) (d N(@O, 1

For testing H;, : 6 = 6, against H, : 6 = 0, (> 8)) if the most powerful critical region does

not depend on 0, the test is uniformly most powerful for
(@ H;:86=6, () H,;:6<6, (c) H;:06>6, (d) None of these

Which of the following can be the variance-covariance matrix of a random vector

X
K =
X
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148.

149.

150.

192.

193.

194.

195.

196.

197.

ROS

(a) [_12 ﬂ (b) ﬁ _2@ (c) [_21 _ﬂ (d) None of these

If the responses for treatments in a factorial experiment with factors A and B, each at two
levels from three replications are aob0 = 18, alb0 =17, a)b, = 25 and a;b; = 30, then the

sum of squares due to interaction AB is
(a 3 (b) 4 (c) 6 (d 12

If oo and B are the probabilities of type I and type II errors respectively, which of the
following is correct for the most powerful tests ?
@ @+pB)>1 ® (a+P)<l1 c) a>p (d) None of these

The mean and variance of a distribution with moment generating function
6

1 1
M (t) = (5 +5 etj are respectively :

(a) %and% (b) %and3 (©) 3and% (d) 3and%
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St ol S &, FeH p ST QUTYa TR T | 39 SRS 61 ol 71ed RIS 1 ek o
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(0 (N-DP,+nP, (d (N-DP,+n(l-P)
TIfeteh Gehdl | 1. 318, +1.€1. @ g i g d s @ adi 2 2
(@) vr=bk b AW-D=rk-1)
(¢ b>v (d) ST Gt
) ) ) 98 100
AT 6 X, X,y ... X, THEHM & T03 &9 F KA N(O, DR E 1A Y, X, 3R Y X, % A
i=1 i=3
HEEH U BT
96 98
(@ 0 b 1 © g @ Tog
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(@) tz(z) (b) Xz(l) (©) Xz(z) (d N, 1)
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AT 8 A I T Th T IRBATH BT AT
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@ [7 o] o[l 5] e i e s
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